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MOAYJIb «<AGRICULTURE IN GENERAL»

1. KOMILNVIEKCHASA LHEJIb MOAYJIA
CTyeHThbl 10JKHbI:

® 3HATh:

1 ypoBennb (A):1) nexcuueckuii martepuan mo Teme «BBeneHue
B CIICIMATLHOCTEY; 2) TpaBmiia O0Opa3oBaHMs: a) IPOJOKCHHBIX
BpeMeHn aktuBHoro 3amora (The Continuous Tenses Active Voice);
0) npuuactuss [ (Participle I), ¢yHkmmm u cmocoOsl TmepeBona;
B) repynaus (Gerund), GpyHKIMH U CTIOCOOBI TEPEBOA.

MaxkcumasibHasi olleHKa 3HaAHMI Ha 1 ypoBHe
(penpoAyKTHBHOM) 6 GaJLJIOB.

2 ypoBenb (B): xapakrtepu3oBaTh 1) IEeKCHYECKHI MarepHal IO
TemMe «BBelneHHe B CHIENUANBHOCTB», 2) TpaBWwia 00pa3oBaHUS:
a) MPOJOKeHHBIX BpeMeH akTtuBHOTO 3amora (The Continuous Tenses
Active Voice); O)npuuactus [ (Participle I), ¢yHkmum u crmocoObl
nepeBoa; B)repynaus (Gerund), pyHKIMYU 1 CrIOCOOBI IEpEBOIA.

MaxkcumajbHasi OlleHKa 3HAHMI Ha 2 YPOBHe
(mpoaykTuBHOM) 8 0a/1710B.

3 yposens (C): xapakTepu3oBaTb H  aHAJIN3HPOBATH
l)mexkcuueckuii Matepual 1o TeMe «BBeaeHme B CIEIUAIBHOCTBY;
2) mpaBuiia 00pa3oBaHUS: a) MIPOJOKEHHBIX BPEMEH aKTHBHOTO 3aJI0Ta
(The Continuous Tenses Active Voice); 0)npuuactus 1 (Participle 1),
¢yHKIMU © crmocoObl mepeBona; B)repyHaus (Gerund), QyHKOUH
U CTIOCOOBI MIepeBoa.



MaxkcumanbHasl olleHKa 3HaHMii HA 3 ypoBHe
(TBOpueckom) 10 Gasu1oB.

® yMeThb:

1 ypoBenbr (A): 1) aHamu3UpoBaTh HWHOASBIYHBIN  TEKCT
(ero CTpyKTypHbIE, JIEKCHYECKHE U CTHIMCTHYECKHE OCOOEHHOCTH)
C TIO3HUIIUH TpeOOBaHUH K 3HAHUSAM 1-TO YPOBHS; 2) YUTATh, IEPEBOIUTH,
MMOHUMAaTh Ha CIIyX TEKCTh 1o Tpodmmo oOydeHus (M3ydaromiee
yreHue); 3) BecTH oOlIeHHe NPOoPecCHOHABHOTO B COLUOKYIILTYPHOTO
XapakTepa Ha aHTJIHMHCKOM S3bIKE MO MPEAJOKeHHOH MOJENH, coueTast
TUANOTHYeCKEe ¥ MOHoJormdeckue Gopmel peud; 4) TIOHHMATH
WHOSI3BIYHYIO peub B 00beMe POTrpaMMHOI TEMaTHKH; 5) HCIOIb30BaTh
AHIIMACKUHA A3BIK B KayecTBE MHCTPYMEHTa Mpo¢ecCHOHANBHON
JESITENbHOCTU: pedepupoBaHue MU NEepeBOJ Ha PYCCKHH S3BIK
po¢ecCHOHAIEHO OPHEHTUPOBAHHBIX TEKCTOB.

MaxkcumanbHasi OlleHKA 3HAHMI Ha 1 ypoBHe
(penpoayKTUBHOM) 6 6aJL/10B.

2 ypoBenb (B): 1) ananmu3upoBaThb HWHOS3BIYHBIA  TEKCT
(ero CTpyKTypHbBIE, JIEKCHYECKHE U CTHIMCTHYECKHE OCOOEHHOCTH)
¢ TIO3UITHH TpeOOoBaHUH K 3HAHUAM 2-TO YPOBHS; 2) YUTATh, IEPEBOANTD,
MOHUMATh Ha CITyX TEKCTHI IO MPOQIITI0 00ydeHus (M3ydarolee YTeHuUE,
03HAKOMHTENBbHOE 4TeHHE); 3) BecTH OOLeHHe MNpodhecCHOHATBHOrO
U COLIMOKYJIBTYPHOI'O XapakTepa Ha aHIJIMICKOM SI3bIKE B Pa3MYHBIX
CTaHIAPTHBIX CUTYaIMsIX, IMOJb3YACh NpaBUIAMU PEYEBOr0 ITHUKETA,
coueTast AMAJOTHYECKUE U MOHOJIOTHYecKue (GopMbl peun; 4) MOHUMaTh
AyTEHTUYHYI0 MHOS3BIYHYIO pedb B 00bEME NPOTrpaMMHON TEMAaTHKH;
5) ucionp30BaTh  AHTIIMHCKUN  S3BIK B KadecTBE - MHCTPYMEHTa
npodecCHOHANLHON JeATeNbHOCTH: pedepupoBaHie W MEpPEeBOjA Ha
PYCCKHH S3BIK MPOQECCHOHAIBHO OPHEHTHPOBAHHBIX M HAYYHBIX
TEKCTOB.

MaxkcuMaabHasi OlleHKA 3HAHMII Ha 2 YpOBHe
(mpoaykTuBHOM) 8 0a/10B.

3 ypoBenb (C): 1) aHanw3WpPOBaTh WHOS3BIYHBIA  TEKCT
(ero CTpyKTypHBIE, JEKCUYECKHE M CTHIIMCTHYECKHE OCOOCHHOCTH)
C TIO3MIIUH TPeOOBaHUN K 3HAHUSAM 3-TO YPOBHS, 2) YUTATh, TICPEBOIUTH,
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MMOHMMATh Ha CIIYX TEKCTHI 0 POQMITI0 00yUYeHUs (M3yJaroliee YTCHNUE,
MMPOCMOTPOBOE W O3HAKOMHTENBHOE UYTEHHE); 3) BECTH OOIIeHHE
poQecCHOHATFHOTO ¥ COIMOKYJIBTYPHOTO XapakTepa Ha aHTIHHCKOM
SI3BIKE B PA3JIUYHBIX HECTAHAAPTHBIX CUTYALUAX, [TOJIb3YSICh MPaBUIaAMHU
peYeBOro 3THUKETa, coveTas JAUaJIOTHIeCKAe M MOHOJOTHYECKHe (OPMBI
pedn; MOJIETHPOBAThH YCTHOE BBICKa3bIBaHHE, WCTIOJB3Y S
TpaMMaTU4CCKUE ABJICHUA  MOIYJIA, 5) IMOHUMATh AYTCHTHUYHYIO
VHOSI3BIYHYI0 PEeUb CBEPX NPOTPAMMHON TEMAaTHKH; S5) HCIOJB30BaTh
AHTJIMACKUHA ~ s3BIK B KAa4eCTBE WHCTPYMEHTAa TpodecCHOHATbHON
NEeSITeNbHOCTH: pedepupoBaHue H MepeBOl Ha PYCCKHHA S3BIK
po(heCCHOHANTBHO OPHUEHTUPOBAHHBIX M HAYYHBIX TEKCTOB.

MaxkcumajibHasl OlleHKa 3HAHMI Ha 3 YypoBHe
(rBOpueckom) 10 6asioB.
e (hOpMUPOBATH:

1) OCO3HaHHeC HOTp€6HOCTI/I B IMMIOCTOSAHHOM CaMOCOBCPIICHCTBOBAHNN



2. HAYUHO-TEOPETMUYECKOE
COJEP)KAHUE MOTYJISI

2.1. Ci1oBapp — MMHHMYM 110 TEMe

Active Vocabulary (Text A)

plant breeding pa3BeJcHHE PACTEHUI1, pACTEHHUEBOJICTBO
processing 00paboTKa, nepepadboTKa
recreation pasBiIcucHUE; X000H

root crop KOPHEILIOL

rotation system ceB000OpOT

rye POXb

services sector cdepa obcimyKuBaHHS

small fruit SITOHASI KYJIBTYypa

sorghum grain copro (xaebuwlil 31aK)
sugarbeet caxapHas CBeKJIa

sugarcane CaxapHbId TPOCTHUK

sweet potato Oarar, crankuii kKaprodens
syrup OYHMIIIEHHAS MTATOKa

tallow KUP, calio (0151 ceeuell, Mblaa)
tillage 00paboTKa MOYBHI

tuber KIyOeHb

wheat IIIEHUNA

yield IJI0JIBI, YPOXKaid, cOOp yposkas
cattle KpPYMHBII poraTslii CKOT

dairy cattle

MOJIOYHBIA CKOT

VERBS

apply MIPUMEHSTH, ICTIOIb30BaTh, YIIOTPEOIATh
cause MOCITY>KUTh IPHUYMHOM/TIOBOAOM ISl 4Ero-1.;
comprise BKJIIOYaTh, 3aKJII0UaTh B cebe, comepxKarb
differ OTIIUYATHCS

dominate npeo01anaTh, JOMHHHPOBATH

employ NPEAOCTABITh PadOTy; HAHUMATh

engage 3aHUMATBCS YeM-JI., OBITh 3aHATHIM YEM-IL.;
ensure rapaHTUpOBaTh, 00ECIeUNBATh

increase BO3pAcTaTh, YBEIHMUUBATH(CA)

involve BKITIOYATh B cels

overtake OXBaThIBATh

raise BBIPAIIMBATh (pacmenus); pa3sBOIMTD (nmuyy, ckom)
reduce MOHW)KATh, COKPAIATh, YMEHBIIATh

tend toward

CKJIOHSTBCS (K wemy-i.)

NOUNS
barley SIYMEHb
biofuel OHMOJIOTHYECKOE TOTIIIMBO
biopharmaceutics | 6uodapmarus
cowpea BHUIHA KHATalCKasl, TOPOX KOPOBUI
crop 1) cenbCcKOXO3AWCTBEHHAS KYIbTYpa
2) yposkaH, )KaTBa; IOCEB
cultivation BO3JICTIBIBAHKEC, BEIPAIIMBAHKE, KYIbTHBAITNS
soil cultivation moyBooOpaboTKa
engineering WHXCHEPHOE MCKYCCTBO, TEXHUKA, HHIKEHEPHUS
equipment obopymoBaHue
feed KOpM, hypax
fertilizer ynoOpeHune
fiber BOJIOKHO
forage ena, KopM (011 srcugomuuix), hypaxk
grain crop 3epHOBasl KyJbTypa
hay CEHO
hide KOXa, MKypa
lard CBHHOE CaJlo
legumes 0000BbIC
food grain legumes | 3epHOGOOOBEIE
lima bean JAMa, JIMMCKas (hacolrb
livestock KPYITHBIH pOTraThiii CKOT
livestock pa3BeqieHre JOMAITHUX KHBOTHBIX
breeding
lorry IPy30BOY aBTOMOOWUJIb, TPY30BHK
machinery MAaITUHBL, 000pyT0BaHKE
measure Mepa, MEPOTIPHUSITHE
oat OBEC
oil seed crop MacIu4Hasi KyJIbTypa
pesticide MECTUIHI, CPECTBO JUIsl OOPHOBI C BPEIUTENSIMHU

vary

Pa3HUTHCA; OTINYATHCA, PA3JINYaThCA
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ADJECTIVES

design MPOEKTHPOBATh, KOHCTPYHPOBATh

develop 1. pa3BuBarTh(Cs); COBEPLICHCTBOBATH;
2. BBIBOAUTH (COPT MIIH TIOPOJTY )

dig (dug) KOIIaTh, PhITh, BHIKAIIBIBATh

eliminate (weeds)

yIANSATh, YHUUITOXKATh (COPHSKH)

harvest

youpath (coOMpaTh) ypoxaii; xKarb

improve 1. yiryumaTh, yCOBEpIIEHCTBOBATS;
2. OKYJIBTYPHBAaTh, MEJINOPHUPOBATH (IIOYBY)

invent n3o0peraTh

mount yCTaHaBJIMBATh, HABEIINBATh

mow (mowed, | KOCUTB; KaTh

mown)

obtain MOJy4aTh; IPUOOPETATh

syn. get, receive

plow axarb

Br. plough

power CHa0XXaTh DHEpPTUei

provide with

cHa0aTh; 00ecIIeYnBaTh

seek, (sought)

HNCKaTb, PA3bICKMBAThH

diversified pa3INYHBINA, pa3HOOOPAa3HBIN, MHOOTPACIEBOU
entire TTOJTHBIN
specialized MPUTIOCOOJICHHBIH K ONpeIeIeHHBIM yCIOBUSIM
widespread HIMPOKO PacrpoCTpaHEHHBIH
Active Vocabulary (Text B)
NOUNS
advantage NPEHMYIIECTBO, BBITO/1A, OJIb3a
care yXxoJ, 3a060Ta
corn planter 3epHOBasI CesIKa
culture 1. cenbCKOX03HCTBEHHAS KYJIBTYPA;
2. KyJIbTHBHPOBaHUE, BO3/ICIIBIBAHUE,
BBIPAIIMBAHUC
device YCTPOKMCTBO; anmapar; NpUcrocoOIeHHE;
fuel TOILUIMBO, TOPIOYEE
engine JIBUTaTeIlb, MOTOP
gasoline; (Br.) OceH3MH
petrol
grass TpaBa

h.p. = horse power

JjomaaguHas Cujia, MOIIHOCTH B JIOIIaJWHBIX
cuIax

hoe

MOTBIT'a

implement

MallliHa, OpPYANe; HHCTPYMEHT;
MH.Y. - HHBEHTaph

thresh MOJIOTHTb

till BO3/IeNIBIBaTh, 00padaTHIBATh
ADJECTIVE

intricate CJIOKHBIHT

versatile MHOTOCTOPOHHUH, THOKUIA

plow, (Br. plough)
moldboard plow;

1. uiyr;
2. HaBECHOM ILIYT;

power

CHrJjia, MOIIHOCTb, SDHCPI'US,

pump Hacoc

steam rmap

tool opyave Tpyaa, HHCTPYMEHT
VERBS

advise COBETOBAaTh, PCKOMEH/IOBATh

aid IIOMOTaTh, OKa3LIBaTh ITOMOIIH

bind (bound) BSI3aTh, CBSI3EIBATH
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2.2. OCHOBHBIE TEKCThI
TEXT A
AGRICULTURE IN GENERAL

Agriculture is the production of food, feed, fiber and other goods by
the systematic growing and harvesting of plants and animals. It is the
science of working land and using it to raise plants and animals.

The word agriculture is the English adaptation of Latin agriculttra,
from ager, "a field", and cultiira, "cultivation" in the strict sense of
"tillage of the soil".

Many different factors influence the kind of agriculture practiced in a
particular area. Among these are climate, soil, water availability,
topography, nearness to markets, transportation facilities, land costs, and
general economic level.

The primary agricultural products consist of crop plants for human
food and animal feed and livestock products. The crop plants can be
divided into 10 categories: grain crops (wheat, for flour to make bread,
many bakery products, and breakfast cereals; rice, for food; maize, for
livestock feed, syrup, meal, and oil; sorghum grain, for livestock feed;
and oats, barley, and rye, for food and livestock feed); food grain
legumes (beans, peas, lima beans, and cowpeas, for food; and peanuts,
for food and oil); oil seed crops (soybeans, for oil and high-protein meal;
and linseed, for oil and high-protein meal); root and tuber crops
(principally potatoes and sweet potatoes); sugar crops (sugarbeets and
sugarcane); fiber crops (principally cotton, for fiber to make textiles and
for seed to produce oil and high-protein meal); tree and small fruits; nut
crops; vegetables; and forages (for support of livestock pastures and
range grazing lands and for hay and silage crops). The forages are
dominated by a wide range of grasses and legumes, suited to different
conditions of soil and climate. In the 2000s, plants have been used to
grow biofuels, biopharmaceuticals, bioplastics, and pharmaceuticals.
Biofuels include methane from biomass, €thanol, and biodiesel.

Livestock products include cattle, for beef, tallow, and hides; dairy cattle,
for milk, butter, cheese, ice cream, and other products; sheep, for mutton
(lamb) and wool; pigs, for pork and lard; poultry (chiefly chickens but also
turkeys and ducks) for meat and eggs; and horses, primarily for recreation.
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In 2010, about one third of the world's workers were employed in
agriculture. The services sector has overtaken agriculture as the
economic sector employing the most people worldwide.

The soil is the basis of agriculture. Enough food for all the people can
be grown if there is sufficiently good soil for producing high yields.
Increasing in the yield of the grain and other crops is ensured by a
number of factors. First comes the system of agrotechnical measures.
Farmers have to introduce better crop rotation systems. Rotation systems
naturally differ in various areas and under various conditions. Second
goes the technical equipment of farms. Tractors, combines, lorries and
other machinery considerably reduce the time required for agricultural
work. At present all the problems in agriculture are involving
engineering. Today’s farming is highly developed and intensive. Many
agricultural processes are being mechanized now. The most modern
farm machinery is used for crop cultivation and for livestock breeding.
Third goes an increase in delivering chemical fertilizers and the
improvement of their quality. Applying organic and chemical fertilizers
farmers increase crop yields. The production and use of chemical and
biological means of plant protection should be increased.

Modern agronomy, plant breeding, pesticides and fertilizers, and
technological improvements have sharply increased yields from
cultivation, and at the same time have caused widespread ecological
damage and negative human health effects.

TEXT B
MECHANIZATION OF AGRICULTURE

The earliest efforts of people were to lift themselves from primitive
cultures through better tools for tilling and better methods of using the land.
At the dawn of agriculture man practiced the most elementary methods of
improving soil structure. He broke up the soil and prepared a seedbed using
the most primitive cultivating devices, a digging implement like a hoe.

Until the 19" century man’s tools for tilling the land remained mainly
unchanged — a sharpened stick, a simple hoe and a primitive “plow”. But
people began seeking devices and methods of work that were more
efficient. Of greatest significance was the development of mechanical
power for farm work.
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Wind, water and animals were used to provide energy for various devices.
This led to the Industrial Revolution that began in the 18" century. The
Industrial Revolution began by putting water and steam to work. James Watt,
a British engineer, developed a steam engine in 1765. Steam-powered tractors
were developed in the mid-1800s, but they were expensive and difficult to
operate. The use first of water power and then of steam power stimulated the
invention of agricultural machinery replacing manual labor: a threshing
machine, a mowing machine, a self-binder, a potato-digger, etc.

In the middle of the 18" century farmers tried a moldboard plow
which was designed to eliminate weeds by turning over a thick layer of
the soil. The year 1869 saw the appearance of a mechanical corn planter,
1875 — a self-binding reaper. The first combine was designed in 1836.

In 1897 a German engineer Rudolf Diesel invented a new engine
known as a diesel which began a transport revolution in cars, lorries,
trains and ships. The main advantage of diesels is that they can run on
rather cheap fuel. The most far-reaching invention for agriculture was
the gasoline engine mounted on a farm tractor at the beginning of the
20™ century. Today a farmer has a wide range of tractors — gasoline and
diesel, with engines varying from 20 h.p. to 400 h.p. Electric power or
electricity in its nature is far more versatile than the earlier power
sources. Nowadays farmers use electric power to operate electronic and
automated equipment. Electric motors are also used to run milking
machines, irrigation pumps and many other farm machines.

Modern agriculture is known by its full-scale mechanization of jobs
requiring more intricate agricultural machinery, such as harvesting of
sugar beets, mowing of grasses, silaging, livestock care, etc.

Today our agricultural enterprises are able to obtain high yields of
crops and animal produce because they work in close contact with
science. Science and technology help make agriculture more productive
in three main ways. They provide farmers ‘with labor-saving
technologies, produce improved plant varieties and breeds of livestock
and develop new agricultural chemicals.

Many farmers use computers to aid in farm operations. Electronic
computers are fine economic advisers. They can supply a farm with
advice what tractors and machines are to cultivate the soil or grow good
crops, which and how much fertilizer have to be used, etc. Using the
Internet farmers may use of data provided by agricultural colleges or
other information centers.
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2.3. I'pammaTH4eckuii MUHEMYM
Grammar revision
Oopa3zoBanue u ynorpediaenue Continuous Tenses Active

Oobrmiee 3HaueHwe rpymbl BpemeH Continuous — 0603HaUCHUE TCHCTBHS,
COOTHECEHHOTO C KAKUM-TO OMPEJICIICHHBIM MOMEHTOM JICHCTBUS B TIPOLIECCE
ero passutusl, T.€. coBepmatomrerocs (Present Continuous) — Hacrosimee
MIPOJIOJDKEHHOE BpeMst); coepiapitierocs (Past Continuous) — mporemee
MPOJIOJDKEHHOE  BpeMsi; . WM KoTopoe Oynmer comepmiateest  (Future
Continuous) — OyjyIiee POIOIKSHHOES BPEMSI) 8 ONPEOeICHHbLIL MOMEHM
6 HacmoAwem, npowieouiem unu oyoyuiem.

Oo6pa3oBaHnue:

| to be + Participle I Active cmpIcioBOrO rarona |

Participle I Active oOpazyercst npu nomory npubasneHus cydoukca - ing
K OCHOBE CMBICIIOBOIrO riiarona: work — working, write — writing.

to be + V ing (Participle I)
l !
HU3MEHsIeMast HEU3MEeHAeMas
qacTh qacTh
Present . .
Continuous Past Continuous Future Continuous
Positive form

am was shall be
is + V-ing + V-ing + V-ing
are were will be

I am writing.
She is writing.

I was writing.
She was writing.

I shall /will be writing.
He will be writing.

Are they writing?

They are writing. | They were writing. They will be writing.
Interrogative form
Is she writing? Were they writing? Will he be writing?

Negative form

[ am not writing.
She is not writing.
They are not
writing.

I was not writing.
They were not
writing.

I shall not be writing.
He will not be writing.
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IIpumeuanne: The Present Continuous ynoTtpe6isercs Takxe A
BBIDAKEHHS HaMEUYECHHOT'O, 3allIaHMPOBAHHOTO JEUCTBHUS, KOTOPOE
coBepmHTCs B OyyIIeM, 4acTo ONvKaniem:

Are you doing anything tonight? Tol uTO-HUOY OB AeTaeulb
CerojHs Beyepom?
Ja, s BcTpeuaroch o CBOUMU
JPY3bsIMH
(Tak 3amIaHUPOBAHO).

Yes. I’'m meeting my friends.

CrnoBa, koTopble yaile Bcero conpoBoxaatoT Continuous Tenses.

4) NpUHANIEKHOCTBL. fo have — umeTh; to own — o0NanaTh;
to belong — npuHaIIeKATE; 10 POSSeSS — OONANATH U JIp.

5) ¢ raaronamu: to seem — Ka3aThCs;, fo appear — TIOSIBIATHCS;
to contain — colepaTh; t0 consist — COCTOsTh; t0 keep — XpaHUTH;
to concern — OECTIOKOUTHCS; 10 matter — 3HAYNUTH U JIP.

Ynotpeodaenune Participle I (Active, Passive) B pa3HbIx pyHKIIHsSIX

Hpuuacrue 1 (Participle I) - sTo0 Hemnunas Qopma rnaroina,
BBIp@XaloOIlasi IpoLecc ACHCTBHA M COBMeLIamomas B cebe CBOMCTBa
IJIaroJia, HpuiaraTeNbHOro U Hapedus.

Present Continuous

Past Continuous

Future Continuous

now (ceifyac), at
(the) present
(moment)

(B HacTOAIINH
MOMeHT), at this
moment (B JaHHBII
MOMEHT) H T. II.

TOYHOE YKa3aHWE BPEMEHHU
6 npouwiiom: at 5 o’clock
(yesterday) — (Buepa B

5 gacos), at that moment
— (B ToT MOMEHT), at that
time — (B To Bpemsi), when
he came (xorma ot
npunren) u T.11. all day
long — (Bech neHb), all the
time — (Bce Bpems), the
whole day — (Bech neHb),
from 10 till 12 — (¢ 10 oo
12 gacoB), during —

(B TeUeHHUE) M T. TI.

TOYHOE yKa3aHHE
BPEMEHHU B 0ydyuiem:
at that time
(tomorrow)— (B 3T0
BpeMs 3aBTpa), at

5 o’clock tomorrow —
(B 5 yacoB 3aBTpa),
all day tomorrow —
(Bech IeHb 3aBTPA),
all the time — (Bce
Bpemsi), from 6 till 8
(¢ 6 10 8 yacoB)

UT. II

IIpumeuanue:

Present Continuous,

ynompedasemcs ¢ TIAr0JaMH, BRIPKAIOIIIMH:

1) yyBcTBa BOCHIPUSITHSL: 0 See — BUNIETD; to hear — CIBIIIATE; to notice —
3ameuarb; fo smell — TaxHyTh; fo feel — 1yBCTBOBATH; f0 recognize — y3HaBaTh;
to listen (to) — cnymare; to watch — HabmronaTh U JIp.

2) 3MouuH: to want — XOTEeTh; to desire — KenaTh; to refuse —
OTKa3bIBaTh; fo forgive — mpomats; fo wish — xenate; to hate —
HEHaBUJICTh; to like — HpaBUTHCS; fo love — MOOUTE U JIp.

3) MbICJIHTEbHBbIE MIPOIECCHI: o understand — TOHUMATD; to know
— 3HaTh; fo remember — TIOMHUTH; to believe - Beputh; to expect —
0XHUIaTh;, 10 Suppose — TOJArath, Ipeamnoyarate; fo recollect —
BCIIOMHHATE; 10 trust — BEPUTH U JIp.
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KaxKk npaBuiIo, He

[puyactue L (Participle I) umeer popMmy BpemMeHH 1 3a0ra.

3HayeHne dopma

[Ipuuactue | AKTHUBHBIH 3a710T [TaccuBHBIH 3a10T
Participle | V-ing being V ;
Indefinite — using being used
(Simple)
BBIpaXkaeT Ynorpebaenue: Ynorpebaenue:
JefcTBHE, a) B MO3UIUHU a) B TIO3UIUHU
OHOBpPeMEeHHOEe | TPUIAraTe’IbHOTO npwiaratenasHoro (Adj) -
¢ JeficTBHEM (Adj) - onpeneienue. onpejeeHHe.
cKa3yeMoro Ilepesoo: Ilepesoo:
NpeaJIoKeHHsI. Q ) npugactuem Q 1) npuyactuem

HACTOSIIIEr0 BPEMEHH C
cypdurcamu «yup, «oup,
«aup, «s, eCiii riaroj-
CKa3yeMoe OTHOCHUTCS K
HACTOSIIIIEMY BpEMEHH —
UCNONL3YIOWULL,

O 2) npu4acTHem
MpoUIeAIIero BpeMeHN C
cyhdukcamu «BuD», «ID»,
€CJIM IJIaroj-cKazyemMoe
OTHOCHUTCS K MpoLIeIemMy
BPEMEHH - UCHOIb308AGUIUIL
Q 3) npuaaToOYHBIM
OIPEACIUTENLHBIM
NPEIIOKEHUEM — KOMOPbiL
UCNOTb3YEm,; KOMOPbIll
UCHOIL308AL;

HACTOSILEr0 BPEMEHH:
UCTIONB3VIOWUTLICA

Q 2) npuyactieM
MPOIIeAIIero BpeMeHu:
UCNOTB308AGUIUTICS

Q 3) npuaaToYHBIM
OTIPEICITUTEIIbHBIM
Npe/II0KEHUEM:
KOMOPbitl UCTONb3YEMC AL,
KOMOpbill UCNONb308AICS
(ucnoavzosanu);
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3HadyeHue Ddopma

IIpuuactue 1 AKTHBHBIH 3a510T [TaccuBHbIi 3a510T

Gerund kak u Participle I umeet hbopmy Bpemenu u 3anora:

0) B MO3ULIMU HapeUHst 0) B IO3UIINU HApEUHI
(Adv) — 06cTOSITETHCTBO (Adv) —
00CTOATENHCTBO
(BpeMeHH, IPUYHHEL,
(hYHKITMM IPUYACTHIO MOTYT | YCIIOBHS H T. 1.).
MPEALIECTBOBATh COIO3bI Ilepeson:
when, while, if, unless, Q 1) neempuyacThem -
once, though, etc. 6y0yuU UCNONL30BAH;
IepeBon: Q 2) npuaaToYHBIM
Q 1) meempuyacTheM ¢ MIPEATI0KEHUEM
OKOHUYAHHSMH «a», «51», «B» | BPEMEHH, IPUIUHEI,
- UCNOAB3YA; UCNONBL30BAB; YCIIOBUS H T. JI. — K020d
Q 2) npuaaTOYHBIM (e2o0) ucnonwvsyom
MIPEI0KEHUEM BPEMEHH, (ucnoavzosanu).

(BpeMeHU, IPUIHHBI,
yCIOBHS U T. 1.). B 3TOM

MPUYUHBI, YCIOBHS U T. 1. —
K020d UCnONb3yeme
(ucnonvzosanu).

3HaveHne dopma
I'epynnuit AKTHUBHBIN 325107 ITaccuBHbI 3a10T
Gerund Indefinite (Simple) V-ing being V ;3
BbIPAakKaeT aeiicTBue,
OJIHOBPEMEHHOE using being used
C JCUCTBHEM CKA3yEMOI0
YnorpebaeHue DyHKIMHU

Oopa3oBanne u ynorpeoJjenue Gerund (Active, Passive)
B pPa3HbIX QyHKUIMAX

Ilepynauii (Gerund) - 310 HenuuHas ¢opma rjaroia,
BBIpaXKaroIas Mporecc AeHCTBUS U COBMeIaronas B cebe cBoiicTBa
rjarojia W cyumecTBUTedbHOro. IloaToMy Ha pycckui A3bIK
TepYHAUNH TEPEBOMUTCS CYIEeCTBUTEJbHBIM, TJArojgoM HJIH
AeenpuyacTHeM.

Oo6pa3oBaHue: repyHaui obpaszyercs npu MIOMOIIIU
npubasieHus cyddukca - ing K OCHOBE riaroja, T.e. IMEET Ty Ke
dbopmy, uTo u mpudactue I: work — working, write — writing.

B pycckom s3bike cooTBeTCTBYIomas ¢opma (T.e. TePYHIHUA)
OTCYTCTBYET.
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1. B mozunm cymecTBATELHOTO (N):
a) nepexl rIarojioM;

0) mocJe rmaroyia 6e3 mpeasora;
B) ITOCTIE TJIaroJia ¢ mpeaJiorom;
I) B MIO3UIIUU NOCJE
IJ1aroJjia-CBA3KH;

2. B IO3MILIUH NPHIIATaTEIIEHOTO

(Adj)

3. B mo3uruu Hapeuws (Adv)

a) Reading is my hobby.(noanexamniee)

b) I like reading. (npsimoe nomnoyHeHNE)
¢) I am fond of reading. (npemnoxuoe
JIOTIOJTHCHHE)

d) My hobby is reading. (nMeHHast 9acTh
CKa3zyemoro)

2. There are different ways of reading.
(ompenmenenue). B aroit  dyHKImuM
TePYHIMIO YacTO MPEAIIECTBYET IpeyIor
“of “ — way of «criocoO», idea of «MbICITEY,
chance of «Bo3MOXXHOCTHY, reason for
«TIPUYHHA, «OCHOBAHHUE» H Jp.

3. After reading the book he went to bed.
(obCTOSATENBCTBRO).

B oroif QyHKIME repyHAMIO Bceraa
HpeecTBYeT OfMH U3 Ipemioros: after,
before, on, at, in, by, without u 1p.

Crioco0bl epeBojia

IIpumepsl

1. cyuiecTBUTENBHOE
2. uH(pUHUTUB

3. neenpuyacTue

4. mpUOaTOYHOE NMPEIIOKEHHE

1. Reading is useful.

Ymenue — IONE3HO.

2. He finished reading this book.

OH 3aKOHYMII YuUmamao ATy KHUTY.

3. After reading this book he gave it to me.
IIpouumae 3Ty KHUTY, OH J1aJI €€ MHE.

4. I thanked him for giving me this book.

S moGmaromapwi ero 3a TO, Ymo OH Odi
MHe 31y KHUSY.
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I'epynnuii, uMest cBOMCTBA CYyLIECTBUTEIBHOI0, MOXET COUETAThLCS
C MpenyoraMu M ONpPENENAThCS MPUTSHKATENBHBIM MECTOMMEHUEM HIIH
CYILLIECTBUTEIILHBIM B IIPUTSKATEIBHOM MaJEXKe.

She dreams of going abroad. Ona MeuTaer moexarb
(o moe3Tke) 3a TpaHuILy.
We objected to their paying for | Mbl ObLIH IPOTUB OILIATHI

our work in the field. Haiueil paboThI B moJie.
They insisted on_their students’ | OHu HacTauBaIH, 9YTOOBI KX
going to the farm. CTYJICHTHI TIOEXaJIN B XO3STHCTBO.

(Onu HacTaMBaJK HA MOE3/IKE
UX CTYAEHTOB B XO3SIHCTBO).

CyliecTByer psiji TJIaroJioB, MOCIE KOTOPBIX YIOTPEONISETCS TONBKO
TepyHIUI: to stop - TpexpaiaTh, to finish — 3akaH4uBaTh, to avoid -
nusberath, to prevent - TpeNOTBpaliath, fo delay — OTKIaabIBATH,
to forgive- mpomiath, to excuse - W3BUHATH, fo mind - BO3paxarh,
to require - TpeOOBaTh, to Suggest - mpeJIaraTh 1 Jp.

HO: stop B 3HadeHUW npexpawams, nepecmasamv yYmo-iuoo
Oenams TpeOyeT mociie ceOst repyH/Imii:

Stop whistling. [TepecTans cBUCTETH.

B 3HaueHun xe ocmanosumvcs ¢ Kakou-iubo yenvio (4moovl umo-mo
coenamu) stop ynoTpeoIsercs: ¢ MHGUHUTHBOM TIOCIIE HETO:

He stopped to speak to Omn ocraHOBWIJCS, YTOOBI TIOTOBOPUTH
Mary. ¢ Mepu.

EcTh rmaromnsl, mociie KOTOPBIX MOXKHO YIOTPEOISITh KaK IepyHIHH,
TaKk U UHPUHUTUB B TOM K€ 3HAYCHHUHU:

to begin, to start- HauvHath, fo continue (to go on) - TIPOIOIKATH,
to attempt - TIITATLCS, 0 intend - HamepeBaThes, to love - moouTh, to like -
HPAaBUTLCS, t0 hate - HEHABUIETD, 0 prefer — IPEAIOINTATh U Op.

1 began working. Sl mavan paboTats.
I began to work. 51 Havan paboTars.
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lepynanii yacTo BXOAMT B COCTaB CIOXHBIX CYyLIECTBUTEIBHBIX,
YKa3bIBalOIIMX Ha3HAUCHWE MpeaMmeTa: writing table - nyceMeHHBIN
cron; booking office — OunertHas kacca; swimming pool -
IUTaBaTeNbHBIN OacceiiH.

IepyHauii 4acTo ynoTpeOmsIeTCs Mocje TIaroioB, MPUIaraTelbHbIX
U mpuyacTuii B (YHKIUU MPEIOKHOTO JIOTONHEHUS W TPedyoIux
nocJie ceds onpeaeJeHHbIX MPeIJIoroB:

to depend on/upon — 3aBUCETS OT; to insist on — HaCTauBaTh Ha; to object to
— BO3paKaTh NPOTHB; to think of — mymath o ; to thank for — Gnaromaputh 3a;
to prevent from — IPETSITCTBOBATh, MEIIATH; o be proud of — ropauThes yeM-
00, KeM-1100); to be fond of — mobuth uto-MUOO; t0 be sure of — ObITh
YBEpEHHBIM B 4eM-J100; fo be pleased at/with — ObITb TOBOJBHEIM (KeM-T100,
4eM-T100); to be surprised at — ynuBIATECS (YeMy-THO0); to be interested in —
WHTEpEecoBaThcs (4eM-I00); 0 be connected with — ObITH CBA3aHHBIM C U Op.

The farmer insisted on applying  ®epmep HacTauBal Ha BHECEHUU
organic fertilizers. OpPraHWYEeCKHNX yI0OpeHUH.

CpaBHuTenbHasA Ta0auua GyHKUUI repyHaus

1ocJie NpeioroB 1 cnocoo0bl nepeBoia
I'epynauii B hyHKINT
OIIpeieIeHNe
Ynorpebasiercs IlepeBoguTcs IIpumepst

C TIpeasIoraMu 1.cymecTBUTENTbHBIM 1.The method of

of wu for repairing these parts
rmocie will be further
CYIIIECTBUTEIBHOTO improved.

Crioco0 (kakoii?)
PEMOHTA STUX YacTeu
OyIeT B mambHEHIIIeM
YCOBEpLICHCTBOBAH.
2.MHOUHUTHBOM 2.The necessity of
repairing these parts is
perfectly obvious.
HeobxogumocTs
(xakasn?)
PEMOHTHPOBATH 3TH
4aCcTH COBEPIICHHO
OUYEBHUIHA.
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T'epynnuii B pyHKINH

MPEJIOKHOC JOMNOJHCHUC

Ynotpebasiercs

IlepeBonutcs

[Ipumepsl

ODYyHKIUU TEPYyHAUSL:
O0cTOATENALCTBO

C TIpeasIoraMu
of, for, in, on, at,
to, from, with

U T.J. TIOCITe

1. naUHUTHBOM (KOT/1a
B PYCCKOM SI3BIKE TJIAroJ
TpebyeT mocie cebs
MPSIMOTO JIOTIOTHCHYS)

1.We thought of
repairing these parts as

soon as possible.

Mps1 nymanu (o gem?)

0) obOpasa jeicTBUs

Ynorpebasiercs

IlepeBomutcs

[Tpumepsl

C TIPEJIOTOMH
without, by,
instead of

1.meempuyactueM
COBEpILECHHOT'O BU/IA
2. CYyIIECTBUTEIHHBIM

3. 00CTOATENLCTBEHHBIM
MPUAATOYHBIM
IpEUIOKEHUEM

He could repair these parts
without using a special
device.

OH cMOT OTPEMOHTHPOBATH
9T YacTH, He TipuMeHs (0e3
TIPAMEHEHVIST) CIIEUATEHOTO
MHCTPYMEHTa

3.You will learn a great
deal by repairing these
\parts.

Brl HayunTecs MHOTOMY,
OTPEMOHTHPOBAB 3TH
yactu (6garoaapsi Tomy,
YTO OTPEMOHTHpYe€TE...,
NMyTeM PeMOHTA).

B) HeJIH

¢ npemsiorom for|1) cymecTBUTENTEHBIM

2) 00CTOATEIHCTBEHHBIM
MPUAATOYHBIM
MPETIOKCHUEM

We have been sent for
repairing these parts.
Hac npucnanu, 4Toosl
OTPEMOHTHPOBATDH 3TH

YyacTu (JUIs1 peMOHTA)

CKa3yeMoro 0 TOM, 9TOOBI

OTPEMOHTHPOBAThH
9TH YaCTH KaK MOXXHO
CKopee.

2.CyIIEeCTBUTENBHBIM 2.He is responsible for
repairing these parts.
Omn otBeuaer (3a 4ro?) 3a
PEMOHT 3TUX YacTeil.

3. IOTOJHUTEIbHBIM 3.He is responsible for

MPUIATOYHBIM our repairing these

MIPEII0KEHUEM \parts.
OH otBeuaer (3a uro?) 3a
TO, YTOOBI MBI
OTPEMOHTHPOBAJHU OTU
YaCTH.

OyHKINU TePYHIMS:
Oo0cTosITEILCTBO
a) BpeMeHU
Ynorpebasiercs IlepeBonutrcs IIpumepsl

C IpeaIoraMu on,
upon, after,
before, in

1.neenpuyactuem
COBEPIIICHHOTO BU/A

2. CyIIECTBUTEIBHBIM

3. 00CTOATENBCTBEH-HBIM
IMpUaAaTOYHBIM
MPEeATI0KEHUEM

In repairing these parts

he developed great skill.
PeMoHTHpY$ 3TH YacTw,

(BO BpeMsI peMOHTa 3TUX
YacTeH. .., Korma

OH PEMOHTHPOBAIL...)

OH IPOSIBUI OOJIBILIOE

MacTepCTBO.

Conocrtapienue npuyactus I u repynaus

VYnorpebieHue Gerund

Participle I

1. B mO3MIUHK

cymecTBuTeAHOrO (N)
a)repe; rIarojaoM
(mognexaniee)

Applying the

fertility.

necessary fertilizers
improves the soil
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The best way to
solve this problem is
experimenting.
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Conocrapienne npuyactus I u repynaus

Ynorpebienue Gerund Participle I
0) mocJie 1JaroJja cBs3Ku
(MMeHHast 9acTh The farmer
CKa3yeMoro) completed

B) mocJie riaroJa
(noronHEHME)

2. B mo3unuu riarona (V)

(4acTh cKa3yeMoro B
Continuous Tenses)

3. B O3UIIUHU
npuIaraTeabHoro Adj
(ompenenenue)

4. B NO3ULIUU HApeYHs
Adyv (obcTOsITENBCTBO)

harvesting in time.

The principle of
operating this
mechanism is
simple.

After being tested
the tractor was
stopped.

The engineer is
preparing a series of
experiments.

The scientist
demonstrated an
operating unit.

Testing the engine
the tractor-driver used
necessary
instruments.

@DyHKIHMM TePYHIMS U IPUYACTHUS

DyHKIUSL I'epynnuit IIpuyactue
Driving a car is a
Tlonmexarmee > X
profession.
CK&SyCMOC His hObby 18 driving. He 18 derlng to
Minsk now.
He writes articles about
JomonHeHue ARG et I = A—
driving.
OnPenesIere His plan of driving to The man driving a
bea Minsk is not good. car is our chief
engineer.
Oberosrennerso | Before driving a car one Driving a car one
must learn to do it properly. | Must be very
attentive.
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2.4. 3aganus 11 CAMOKOHTPOJISA

1. Ckaxkute, Kak odpa3yercsi yTBepAMTeJbHAsSI, OTPUIIATEIbLHAS
1 BOMPOCHTEIbHAsA (OPMBI [JIAr0J1a-CKa3yeMoro:

a) B HACTOSIUEM JUTMTEIbHOM BpPEMEHH B aKTHBHOM 3ajiore
(The Present Continuous Tense Active).

0) B TpONICHIIEM JUIMTEIFHOM BpPEeMEHH B aKTUBHOM 3allore
(The Past Continuous Tense Active).

B) ‘B OyOymieM JAJUTENbHOM BpPEMEHHM B aKTUBHOM 3aJiore
(The Future Continuous Tense Active Voice).

2. Kakoii u3 riaroJio ynorpeoJien B popme Present Continuous
Active:
a) was driving; b)are driving; c)are driven

3. CkaxknuTe, B KAKOM H3 CJIeAYIOIIUX NpelioKeHuii riaro-
ckazyemoe ctouT B Past Continuous Tense Active Voice.

a) Two students translated the text.
b) The text was being translated by two students.
c¢) Two students were translating the text.

4. IlepeBenute BHIOpAHHOE NpeMJIOKEHMEe HAa PYCCKHH SI3BIK.
Kakoe Hapeune BpeMeHM BbI MOKeTe HCHOJIb30BaTh, YTOObI
00bsicHUTL  ynoTpedsenue Past Continuous B  JTaHHOM
npenyio:keHun?

5. IlepeBeaute ciaenyomme npemno:xkenusa. Ilokaxkure pasHuIy
B pycckoM nepeBode riaroioB B Present Continuous u Present
Simple:

a) My brother goes to school.
b) My brother is going to school.

6. Kak o0pasyrorcs Participle I, Gerund (Active, Passive)?
24



7. B xaxom npeano:xkennu Participle I ynorpe6ieno B pyHknuu
oocrositenbcTBa? IlepeBenuTe BBIOPpaHHOE TNpeAJIOKeHHE HAa
pYCcKuii si3bIK.

a) Translating the text the student didn’t look up the words in the
dictionary.

b) The student transtating the text is our monitor.

8. KakuM 4jieHoM npeasioxeHust MOKeT ObITh repyHamii?

9. Kak nepeBoauTcsi repyHANi Ha pyccKMii A3BIK?

10.B xakoM Mnpeai0:KeHUM CJI0BO applying siBjisieTcsi repyHaneM-
NMOJJIEKALMM H IIePEeBOJUTCS CII0BOM npumeneHue?

a) Applying the necessary fertilizers improves the soil fertility.

b) Applying the necessary fertilizers farmers improve the soil
fertility.
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3.YYEBHO-METOANYECKHE MATEPHUAJIbI
K IIPAKTUYECKUM 3AHATUAM

3.1. Text-based assignments
(TEXT A, uzyuaroiuee yreHue)

MeTtoauyeckue YKa3aHusl 1 peKOMEHIAIMH M0 PadoTe ¢ TEKCTOM.

3amaun, KOTOPBIC YHTAIONIUI pellacT B MPOIecce H3ydarollero
YTEHHUSI, YCIOBHO MOXKHO Pa3/IeIUTh Ha TP OCHOBHBIE TPYIIITHI:

1) BocripusITHE CIIOB W BBIpOKEHHH W HMX TOYHOE TIIOHUMAaHHE
B TEKCTE;

2) u3BJICUCHUE MOTHON HH(POPMALIUH, COCPIKAICHCS B TEKCTE;

3) ocMBICTIeHUE U3BIICUCHHON HH(OPMAITHH.

Ha penpoaykTHBHOM ypOBHE CTYACHTHI JIOJDKHBI XOPOIIO YMETh
YUTaTh TEKCT, BBITOJHHUTH TMEPEBOJ TEKCTA, HAXOIHWTh B TEKCTE CIOBA
U CIIOBOCOYCTAHUSI HA aHTIMUCKOM SI3BIKE JUIS PYyCCKUX 3KBHBAJICHTOB;
OTBEYAaTh Ha OOIIKE BOMPOCHI [0 TEKCTY; BBIOPATh MPABUIBHBIA BapUaHT
13 HECKOJIbKHX TPEIOKESHHBIX.

Ha npoayKkTHBHOM YPOBHE CTYICHTHI IOJDKHBI BBITONHUTH IEPEBO/
TeKCTa, COOMIOAasl HAyYHBIM CTWIb, YyMETh 3allONHITH IIPOOEIIBI
MOAXOJSAIIAMHU 10 CMBICITY JICKCHYSCKUMHU CIMHHIIAMH, JaTh MEPEBOI
CIIOB M CJIOBOCOUYCTAHWH C PYCCKOTrO HAa AHTIMHCKHUI,; COCTABHUTH ILUIAH
TEKCTA.

Ha TBOpYeckoM YpOBHe CTYJCHTHI JOJDKHBI YMETh IMEPEBOIUTH
NPEATIONKEHUS C PYCCKOTO HA aHTIHHCKUIN, UCTIONB3YsI JIGKCHKY TI0 TeMe
MOJyJIsI; TepecKasblBaTh TEKCT, aHAIM3UPOBaTh, XapaKTEePU30BATh
MOHSATHE CEJILCKOTO XO035MCTBA U MEXaHU3AIUH CEIbCKOTO X03SCTBA.

LANDUAGE STUDY

(A) Exercise 1.Make sure that you know the English equivalents
for the following words and word combinations.

Cenbckoe X035CTBO; 00pa0dOTKa TMOYBBI, BEACHHUE XKMBOTHOBOIYECKOTO
XO3SIHCTBA; BOJ000OCCIICUCHHOCTD; TIEPEBO30YHBIC CPEIICTBA; MPE/IIPHUSITHS 110
TPOHM3BOJICTBY CENBX03 MPOIYKIIMH; CETBCKOE XO3SHUCTBO, TIPUCTIOCOOJICHHOE K
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OTpefieNicHHBIM ~ YCJIOBHSIM; ~ MHOTOOTpAC/IEBOE  CEIILCKOE  XO3SHCTBO;
SKOJIOTMYECKUM (aKTOp; pacTeHHe, BBIPAIMBACMOC B TIHIIY; 3EPHOBBIC
KYJIBTYpPBI;, CyXOl 3aBTpaK; 3¢pHOO0OOBEIE KYJIBTYPhl; MACIUYHEIE KYJIBTYPHI;
KITyOHEIUTO/IbI, KOPHEIUIOABL, CaXapOHOCHBIE KYJIBTYPhL; BOJIOKHUCTHIC
KyJbTYpBl; OPEXOIUIOAHBIC KyJbTYphbl; MMACTOMIIHAS 3EMJIS, CHJIOCHBIC
KyJIBTYpPBI, PAcCIpOCTPAaHECHHBI BO BCEM MHUpPE; BO3/IEHCTBHE HA 370POBbE
YeJIoBeKa.

(B) Exercise 2. Read the text and find the words that denote.

Factors influencing the kind of agriculture to choose;
Food crops

Feed crops

Industrial crops

Livestock products

Means for increasing yields

(B) Exercise 3. Find in the text the nouns formed from the
following verbs:

Cultivate, manage, produce, process, vary, fertilize.

(B) Exercise 4. In paragraphs 1 - 4 find the synonyms to the
following words:

Firm, farming, land, special, extensively, fodder, manufacture

(B) Exercise 5. Match these words with their definitions.

1. agriculture a. treating raw materials
2. plant b. living creature which is not a plant
3. animal c. to provide someone with-machinery
4. food d. a thing which grows in the ground
5. field e. to manufacture
6. processing f. something eaten by people and animals or taken
in by plants
7. to equip g. use of land for growing crops, raising animals
8. produce h. a piece of cultivated land
27

(B) Exercise 6. Which words go together?

T T

e.g. animals food produce breed

! !

Breed animals, produce food

1) protection country’s plant achievements

2) application of  rotation fertilizers crop
3) meaning production old agricultural

4) nutrient yields  high  substances

5) agrotechnical reduce  measures the time

6) mechanization crop full yields

(B) Exercise 7. Complete the sentences with the words in the box.

increased; produce; equipment; introduced; achievements;
is growing; pig-growing; reduce; equipped; to feed;

1. We must ... more food for ourselves and import less.

2. The inventor was rewarded by the government for his scientific ... .
3. Tobacco was ... into Europe from America.

4. The ... in his laboratory is useful and modern.

5. The farmer is engaged in ... .

6. Our farm is fully ... with everything to start crop cultivation.
7.1t’s time ... the cattle.

8. The farmer ... vegetables in this field.

9. While being abroad the students ... their knowledge of English.
10. ... your speed! You are driving too fast!

(C) Exercise 8. Complete the sentences with English equivalents.

1. Cennckoe xo3siictBo was the key development that led to the rise
of human civilization.

2. Depending upon the field of application crops can be subdivided

into 3CPHOBLIC, 606OBBIG, MacCJIUYHbIC, CAXapPOHOCHBIC CTOPS.
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3. If the soil is poor farmers have to mpuMeHsITs y1oOpeHUs.

4. At present all operations in agriculture Moryt OBITH
MEXaHU3UPOBAHBI.

5. Development of agricultural techniques has steadily increased
CEJIbCKOXO3SIMCTBEHHYIO TPOU3BOIUTEIBHOCTb.

6. Applying  fertilizers  ¢epMmepsl  yBENIMYMBAIOT  ypOXKau
CEJIbCKOXO3SHCTBEHHBIX KYJIBTYP.

7. Being cultivated in many countries 3TH pacTeHUS MIMPOKO
pacrpocTpaHeHHbl.

8. Bricokme ypoxkan cenpxo3 KyasTyp are controlled by a number of
factors.

TEXT STUDY

(A) Exercise 1. Complete each sentence with an appropriate
word. Consult the text A if necessary.

1. Wheat is used for ... to make bread, many bakery products, and
breakfast cereals.

a) grain;

b) flour;

c) oil;

2. Tractors, combines, lorries and other machinery considerably ...
the time required for agricultural work.

a) reduce;

b) differ;

c) increase;

3. Modern agronomy has caused widespread ... and negative human
health effects.

a) water availability;

b) agricultural productivity;

c¢) ecological damage;

4. About ... of the world's workers were employed in agriculture
in 2007.

a) half;

b) one third;

¢) two-quarters;
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5. Different farmers use different ... in their work.
a) rotation systems;

b) feed crops;

c¢) livestocks;

(A)Exercise 2. Are the following statements true or false? Correct
the false ones.

1. At present the word ‘agriculture’ means growing crops.

2. Agriculture is based on the soil used by farmers.

3. An increase of the agricultural production depends on two factors,
namely: the system of agronomic measures and mechanization of farm
processes.

4. Climate and soil are the main factors influencing the kind of
agriculture practiced in a particular area.

5. Livestock breading is the main source of biofuels.

(B) Exercise 3. Complete the sentences in A with the best ending in B.

1. The word “agriculture”
means

a. branches of agriculture.

b. reduces the time required for

2. Agriculture is :
agricultural work.

3. There are two main c. applying fertilizers.

4. The soil is d. can cause damage to the
environment.

5. For improving soil fertility | e. breeding livestock and growing

farmers Crops.

6. Farm machinery f. is rather a difficult thing.

considerably

7. Farmers increase crop

: g. into several groups.
yields

8. High application of
fertilizers and chemicals
9. Crops can be subdivided

h. introduce crop rotation systems.

i. the basis of agriculture.

10. To choose the necessary

) j- avital branch of an economy.
feeds for livestock

30



(B) Exercise 4. Give your reasons for the following statements.
Read the text A more carefully if you need.

Statements from the text Why?
1. The soil is the basis of agriculture. -
2. Modern farming is highly developed and intensive. -
3. Application of fertilizers and chemicals must not disturb
the biological balance.
4. Fodder is one of the principle problems of cattle
breeding.

5. All farms have to introduce better crop rotation systems. ---

(B) Exercise 8. Divide the text into several logical parts. Find the
key sentences in each part.

DISCUSSION
(A) Exercise 1. Answer the following questions.

1. What is agriculture?

2. What are the key conditions for increasing agricultural production?
3. What branches of agriculture do you know?

4. How many groups are crops subdivided into?

5. What does livestock breeding comprise?

6. What problem does cattle-breeding face?

(A) Exercise 2. Answer the question using the chart.

Problem! Problem!

O6nacTe NpUMEHEHUS,
cpencTsa

CyIecTBUTEIHHEIC
M COYETAHHUS
C CYIICCTBHTEIBHBIMH

I'maromsr
U TJIarOJIbHBIC COYCTaHHUS

Crop growing

food crops, feed crops,
industrial crops,
vegetables, fruits

to depend (upon), to be
subdivided into

Livestock breeding

cattle-breeding, pig-
growing, poultry-
breeding, fodder, rich
enough in protein,
nutrient substances

to comprise, to face, to
choose,

Agrotechnical measures,
chemicals, chemical
fertilizers

soil, high yields,
various, crop rotation
systems, organic
fertilizers,
improvement, quality,
means of plant
protection, high
application, improper,
dangerous, damage,
environment

to grow, to increase, to
ensure, to introduce, to
differ, to deliver, to
apply, to disturb, to cause

Technical equipment of
farms

farm machinery,
tractors, lorries,
engineering, highly
developed, intensive,
crop cultivation

to reduce, to involve, to
be mechanized,

How to increase the yield of crops?

O06nacTs NIpUMEHEHUS,
cpencTBa

Cy1ecTBUTENbHbBIE
M COYETAHUS
C CYIIECTBUTENHHBIMU

I'maromsl
Y TJIaroJIbHELIE COYETAHUS

Agriculture, its branches

human activity, area of
land, food, clothing,
shelter, a field, crops, a
vital branch, country’s
achievements,
foodstuffs, raw
materials, crop
growing, livestock
breeding

to use, to produce, to
breed, to determine, to
develop, to supply
(provide) smb. (smth)
with

(B) Exercise 3. Complete the chart below and speak about problems

I

touched upon in the text A. You may use your chart if you need.

agriculture

Food stuffs

I

Increasing in the yield of crops and animal produce

system of agrotechnical
measures

intensification factors

crop rotation system

tractors, chemical fertilizers,
combines, lorries ,etc.

chemical and biological
means of...
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environment |
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(A) Exercise 4. At the students’ conference you are to make a
report about factors increasing crop yields. What are you going to
speak about?

(B), (C) Exercise 5. Imagine you are a head of an agricultural
enterprise. Your farm specializes in crop growing. What
agrotechnical methods and measures do you have to use to increase
yields of grain and other crops?

(B), (C) Exercise 6. Imagine you are a chief engineer of an
agricultural enterprise. Your farm specializes in livestock breeding.
What agrotechnical methods and measures do you have to use to
obtain high yields of animal produce? Which is one of the principle
problems cattle-breeding faces nowadays?

3.2. Text-based assignments

(TEXT B, uzyuarouiee ureHue)

(A) Exercise 1. Guess the meanings of the following international
words and phrases.

3HadeHWs BBIJIEIEHHBIX CJIOB YTOYHHTE II0 CIIOBapio (dTO TaK
Ha3bIBaeMbIE «IOXKHBIE JIPY3bsl NepeBOAUMKay»). Halinure npeanoxeHus
C JAaHHBIMH CJIOBaMHU B TEKCTE, MPOBEPHTE MPaBUIBHOCTh HAMIEHHBIX
BaMH 3HaueHWi. BwiOepure Te 3HAUYEHHs, KOTOPBIE COOTBETCTBYIOT
KOHTEKCTY.

Lift (v), primitive (adj.), cultures (n), methods (n), practice (v),
elementary (adj.), structure (n), cultivate (v), efficient (adj.), mechanical
(adj.), mechanization (n), energy (n), industrial (adj.), revolution (n),
engineer (n), diesel (n, adj.), transport (n), electric (adj.), motors (n),
irrigation (n), pump (n), machine (n), machinery (n), modern (adj.),
produce (v), productive (adj.), contact (n), technology (n), chemicals (n),
economic (adj.), data (n), colleges (n), information (n), centers (n),
design (v).
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(B) Exercise 2. Match the word in A and its synonym in B. Some
words in B are odd.

A B
1. lift; a. importance;
2. primitive; b. work;
3. land; c. raise;
4. till; d. remove;
5. remain; €. Tow;
6. main; f. expensive;
7. eliminate; g. simple;
8. significance; h. chief;
9. operate; 1. stay;
10.range J. soil;
k. plow;
1. attempt
m. develop;

(B) Exercise 3. Fill in the gaps with the correct prepositions.

1. The development of mechanical power for farm work led ... the
Industrial Revolution.

2. Diesels can run ... rather cheap fuel.

3. The gasoline engine was mounted ... a tractor.

4. Farm tractors vary ... 20 h.p. ... 400 h.p.

5. Machine-building plants provide farmers ... modern agricultural
machinery.

(B) Exercise 4. Match the words in the box with their definitions.
One definition is odd.

1. primitive; a) to make or become different;

2. implement; b) gas or vapor into which boiling water
changes;

3. change; ¢) to cultivate land;

4. eliminate; d) having undergone little development;

5. weed,; e) to cut (grain), to gather in a crop of grain
from a field;
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6. reap; f) to make greater efforts;

7. steam; g) tool or instrument for working smth.;

8. stimulate; h) done with the hands;

9. manual, i) to take or put away;

10.till; j) wild plant growing where it is not wanted;
k) bed of fine soil in which to sow;

(B) Exercise 5. Complete the sentences with the words in the box.

mainly; plows; invented; aid; advantages; culture; providing;
running; dig; develop

1. The farmer has five hectares devoted to potato .... .
2. It is difficult to ... the ground when it is frozen hard.

3. We must ... the natural resources of our country, make the
minerals, forests, etc., available for use.
4. The segment of agricultural industry ... machines, chemicals

equipment requires a great number of agricultural engineers.
5. The people who came were ... country visitors.
6. In modern practice plowing is being done by various .... .
7. The ... of good education are great.
8. Don’t leave the engine of your car ... .
9. When was the steam engine ...?
10. He came to my ... , came to help me.

(C) Exercise 6. Match the word in A and its definition in B. One
definition is odd. Write English equivalents for the Russian words in A.

A B

TpaBa dealing with the simplest stages of smth.; easy

range make or become different; change; be different

vary break up soil and move it; make a hole or tunnel by
moving soil

intricate the limits between which things exist or are
available; an extend

KOCHTD use a tool, a machine to divide into small pieces or
parts
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A B

break up smth made, invented or adapted for a particular
purpose

device implement for cutting and turning up the soil,
drawn by a tractor

KONaTh requiring effort, strength, skill or ability

invent cut (grass, etc.) with a machine

TTyT a plant with green blades and stalks that are eaten
by animals
create or design smth. not existing

(C) Exercise 7. Write every word of the sentences separately. Use
capital letters and punctuation marks if necessary.

Jameswattwasinterestedinmakingexperimentalmodelofsteamengines.
Manyyearsagomanusedthemostprimitivecultivatingdevices.
moreintricateagriculturalmachineryhelpsfarmersintheirwork.

4. electricpowerstimulatedtheinventionoffarmmachineryreplacingma
nuallabor.

5. athreshingmachinewasdrivenbywaterorwindsorsometimesbyhorsel
aborandlaterbysteam.

w NS

TEXT STUDY

(A) Exercise 1. Look through the text. Find the English
equivalents for the following phrases reflecting realities in
agriculture.

Jlyumine MeToxbl HMCHOJB30BaHMA 3€MIIHM; PBIXJIUTH  3EMIIIO;
pa3paboTka MeXaHMYECKOH 3HEePTUH IS CENbCKOXO03IHCTBEHHBIX padoT;
ONpoOoOBaJIM HABECHOW IUTYT; OCHOBHOE NPEHUMYILECTBO TU3EIBHBIX
IBUrateield; paboTaTb Ha JOBOJBHO [EIIEBOM TOIUIMBE; CIIOXKHAS
CEIIbCKOXO03HCTBEHHAS TEXHHKA; CETbCKOXO3IHCTBEHHBIE TPEATIPUSITHS;
TpyaocOeperamomue TEeXHOJIOTHUH; YIydIlleHHble COpTa pacTeHHUH;
yIIy4lIeHHbIE MOpPOJIbI  YKUBOTHBIX; XOpoIue TTOMOIITHUKH
B 9KOHOMHYECKHX BOIIPOCAX.
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(A) Exercise 2. Read the text again more carefully. Complete
each sentence with the appropriate word: a, b, c.

1. Some centuries ago people used the most ... methods for tilling
the land.

a) efficient

b) primitive

¢) stimulated

2. The changes in industry and then in agriculture started by putting

.. to work.

a) a digging implement like a hoe

b) wind and animals

¢) water and steam

3. ... began a transport revolution.

a) a moldboard plow

b) a diesel

¢) steam-powered tractors

4. Atpresent a lot of farm jobs require modern ... farm machinery.

a) unchanged

b) provided

¢) intricate

5. Today farmers are able ... of crops and meat and milk produce.

a) to develop new agricultural chemicals

b) to get high yields

¢) to stimulate manual labor

(B) Exercise 3. Read the following statements and ask your
groupmates to define whether the statements are true or false and
correct the false ones.

In their answers your groupmates should use the conversational
expressions:

That’s right! I don’t think so.
I’m afraid you are wrong. Lbelieve (suppose) ...
I quite agree with you. In my opinion ...

1. From the ancient time Man tried to use better devices for
cultivating the soil.
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2. The Industrial Revolution began by putting wind to work.

3. In the 20" century farmers tested a moldboard plow.

4. At present a farmer has different types of tractors at his disposal.

5. Today agriculture is able to provide people with enough
foodstuffs.

(B) Exercise 4. Match the columns. Complete the chart with the
necessary information from the text.

1. Primitive cultivating devices: steam powered
tractors, ...

2. Inventors and their inventions: gasoline and diesel
tractors ...

3. Agricultural machinery in the 18" century: | plowing, ...

4. Agricultural machinery in the 20" century: James Watt
developed...

5. Farm gobs: a hoe, digging
implements, ...

(B) Exercise 5. Complete the chart below with the necessary
information from the text.

Inventors Inventions The result

James Watt
Rudolf Diesel

(B) Exercise 6. Match the parts of the sentences.

provides  farmers  with  labor-saving
1. Thousand years ago people .. [technologies, improved crop varieties and
breeds of livestock, up-to-date chemicals.
farm specialists with advice how to do
various farmers’ gobs.

are now beginning to make more and more
use of electronic devices.

used the most primitive devices and methods
for tilling and cultivating the land.

5. But steam-powered tractors ..|is that they can run on rather cheap fuel.
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2. The Industrial Revolution ...

3. Science ...

4. The invention of diesels ...




began by using water- and then steam power
for jobs in industry and agriculture.

is able to obtain high yields of crops and
livestock produce.

8. The most significant led to transport revolution.

advantage of diesels ...

6. Computers supply ...

7. Farmers ...

mechanical power was of the greatest
significance for mankind.
10.The development of ... cost much and were difficult to operate.

9. Nowadays our agriculture ...

(A), (B), (C) Exercise 7. Comment on the following statements.
Give reasons for your opinions.

(A) — 1 sentence for one statement); (B) — 2 sentences); (C) — 3-4
sentences).

Statements Why?

1. People began seeking more efficient devices and
methods of work.

2. With a new engine known as a diesel a transport
revolution began.

3. Modern agriculture is highly mechanized. -

4. Today our agricultural enterprises are able to obtain
high yields of crops and animal produce.

5. Many farmers use computers and the Internet. —

DISCUSSION
(A) Exercise 1. What do these dates in the text refer to?

at the beginning of the 20" century.
until the 19™ century.

in 1897.

in the 18" century.

in 1836.

[ S Ry Wy =
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(B) Exercise 2. Speak about historical milestones (Bexu) in
engineering development. Use the chart below.

Time Inventor Invention What was new Result
for agriculture?
Machinery .
and devices Industrlgl
1765 Watt a stc?am replacing Revolution
engine manual
labor
An engine Transport
1897 Diesel | a diesel ;ntf’;nﬁed | Revolution
tractor

(B) Exercise 3. How do science and technology help farmers
obtain high yields of agricultural produce? Use the chart below.

I
Science and technology
labor-saving improved | improved breeds of | new agricultural
technologies plants livestock chemicals
11
| Results |
replace manual | give high yields | give = more  animal | protect
labor produce plants

(A) Exercise 4. Speak about “The history of farm mechanization”
(6-8 pa3BepHYTBIX NpeIJI0KeHHI).

(B) Exercise 5. What type of power was of the greatest

significance for mankind? Give reasons for your opinion (8-10
Pa3BepHYTBIX NpPeNJI0KEHU).
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(C) Exercise 6. a) Complete the chart below; b) Speak about
historical milestones in engineering development.

Time Inventor Invention What is new for Result
agriculture?

...-2011

(C) Exercise 7. What major scientific advances in agriculture are
going to take place in your lifetime? Describe them and explain why
they are going to happen.

3.3. Grammar revision

Oopa3oBanne u ynorpeoJjenue Continuous Tenses Active

(A) Exercise 1. a) Match each sentence with its tense. b) Make
these sentences negative. ¢) Make these sentences into questions.
Remember the word order for making questions.

1. Nick was translating the article the whole Present
evening yesterday. Continuous
2. The student is preparing an agricultural report at Future
the moment. Continuous
3. We are planting trees near our hostel now. P?St
Continuous
4. The students were having agricultural practice Past
in the Botanical Garden at 3 o’clock yesterday. Continuous
5. The students will be taking their exam at 8 Present
o’clock a.m. Continuous

(A) Exercise 2. Find in the text A the sentences with Continuous
Tenses and translate them.

(A) Exercise 3. What is the difference in meaning between the
following pairs of sentences?

1. Alec and Mary are Scottish. They come from Glasgow.
2. They’ll be here very soon. They are coming by car.
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1. He listened to the news on the radio when the phone rang.
2. He was listening to the news on the radio when the phone rang.

1. I was reading a book during the flight.
2. I watched a film during the flight.

(A) Exercise 4. Respond to the following statements using
Continuous Tenses and “still”.

Model: a) - I know he was working on his report the whole last
week.
- He is still working on it.

1. I know he was teaching technology of metals when you graduated
from the University.

2. I know this plant was producing a new model of lorries when you
began to work there.

3. I know they are demonstrating a new model of a tractor now.

4. I know farmers were mechanizing this process.

5. I know the farmer was delivering raw materials to the plant (3aBox)
when you worked with him.

(A) Exercise 5. Choose adverbial modifiers of time suitable for
Continuous Tenses.

1. We were not watching TV ... he was preparing for his exams.
(while, nowadays, sometimes, ago).

2. Is a farmer growing vegetables on this field ... ? (every year, at
present, from morning till night, last year).

3. ... we came to the farm they were feeding poultry. (from 5 till 6
p.m., when, tomorrow, while).
4. Prof. Smirnov will be giving a lecture on physics ... (next

Thursday, at 10 a.m. next Thursday, tomorrow, next month).
5. Was he feeding the cattle ... ? (while, still, ago, when you came)

(A) Exercise 6. Ask again about the action and give a negative
answer. Remember the word order for making questions.
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Active: Model a) When I came to the farm our scientists were
testing a new model of a combine

- Were your scientists testing a new model of a combine when you
came to the farm?

- Our scientists were not testing a new model of a combine when I
came to the farm.

1. They were designing the new equipment when we visited their
laboratory.

2. Our teachers are discussing this problem now.

3. She will be working on our farm from 9 till 11 a.m.

4. We were preparing for a difficult experiment the whole day
yesterday.

5. The farmers were applying organic fertilizers when the students
arrived at the farm.

(A) Exercise 7. Make the sentences.

1.The farmer (plough) his fields (every day, last spring, when the rain
started).

2. Agronomists (improve) crop quality and yields.

3 Soil scientists (make) soil tests (from 9 till 11 yesterday, today,
already).

4. The farmer (eliminate) weeds (2 days ago, all day tomorrow, in a week).

5. Engineers (design) a new model of a plow (by the New Year, in a
week, today).

(A) Exercise 8. Ten of the verbs in the box are not usually used in
Continuous form. Choose them.

design; understand; see (BumeTh); grow; consist; want;
remember; use; know; believe; plow; discuss; belong; till; provide;
have; turn over; suppose; make

(A) Exercise 9. Put the verbs in brackets in the correct tense.

1. Right now the tractor-drivers (are plowing; plow; will be plowing)
the field near the village.
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2. Fertilizers (are having; have; were having) a great effect on crop
yields.

3. The students (have been discussing; were discussing; discussed)
the problem of cultivating the soil at 7 p.m. yesterday.

4. They (see; will see; will be seeing) the results of farm
mechanization in a year.

5. This intricate agricultural machinery (not belong; doesn’t belong;
isn’t belonging) to our farm now.

(B) Exercise 10. Make sentences from the chart. Translate your
sentences into Russian.

testi after the
The students | am esting new classes at the
motors
canteen.
W i improvin d
agricultural are st1 p g nowadays.
potato varieties
college
Thqse is be answqing the | the whole day
engineers questions yesterday.
. - when the dean
I will waiting for you | comes into the
lecture-room.
. cooperating '
Be.lan.lsmn were with some at that time.
scientists leading farms

(B) Exercise 11. Put the verbs in brackets in the correct tense
Simple or Continuous.

1. “Where (be) Peter?” -- “ He (have) his English lesson” -- “ ... he
always (have) it at this time?” -- “ Twice a week”.

2. Mike (speak, not) Spanish. He (know) Polish. Polish (to speak) in
his family when he was a child.

3. Don’t come into the classroom! The students (write) a test here.

4. When the student came into the classroom his groupmates (write)
the dictation there.
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5. “What ... the farmer (do)? “ - “He (plow). The farmer (plow) for
ten — twelve hours every day in spring®.

6. Nowadays the tractor industry (make) progress in all types of farm
machinery

(B)Exercise 12. Put the verbs in brackets in the correct tense
Simple or Continuous.

1. Our engineers usually (work) hard. — Look at these two men — they
(work) at a new problem.

2. They (design) this instrument for laboratory research last year.

3. Tomorrow at 8 in the morning the farmer (till) this field with a
new moldboard plow.

4. These two engineers (mount) a new electronic system in our
laboratory.

5. The volume of scientific information (grow) very rapidly now.

(B) Exercise 13. Put the verbs in brackets in the correct tense.

1. When we (enter) the room the commission (discuss) numerous
questions.

2. At present our farm (supply) these shops with fresh vegetables.

3. At the end of May the students (prepare) for their examinations.

4. Our engineers (test) new equipment now.

5. Nearly a century and a half ago, a Danish physicist, Oersted,
(demonstrate) current electricity to a class, using a copper wire.

(B) Exercise 14. Fill in the gaps with a correct form of the verb in
the box. Use each verb only once. There are more verbs than you
need.

| eliminate; use; invent; make; be; try; |

1. Researchers ... to develop new systems of improving soil fertility.
2. The scientists ... attempts to improve the means of breeding cattle.
3. Physics ... the science studying various phenomena in nature.
4. Our Farmers ... new devices for tilling the soil now.
5. Scientists all over the world ... new effective implements for crop
growing.
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(B) Exercise 15. Put the words in the correct order to make
sentences and then make your sentences into questions. Remember
the word order for making questions.

1. Were; farmers; discussing; at; questions; the conference;
numerous.

2. Engine; university; now; testing; professor; a new ; is; our.

3. The students; the end; will; May; of, their examinations; be;
for; preparing; at.

4. On; safety system; installing; a totally; we; new; are; this farm.

5. At; were; organic; the; arrived; when; applying; the; students;
the; farmers; fertilizers; farm.

(C) Exercise 16. There is a mistake in each of the following
sentences. Find and correct them.

1.  When I entered the room the students is listening
1 2 3
to the lecturer with great attention.
4
2. Our engineers will be made the experiment at two
1 2 3
o’clock tomorrow.
4
3. Some years ago farmers are using modern farm
1 2
machinery for crop cultivation and for livestock breeding.
3 4
4. At present our scientists are worked out a system of
1 2
measures for plant protection.
3 4
5. The farmer were feeding pigs at 7 p.m. yesterday?
1 2 3 4
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(C) Exercise 17. Put the words in the correct order to make
sentences. Remember the word order for making questions
(sent. 3 and 4).

1. anew farm; in our village; I; were still; from; building; when;
my holiday; came; they.

2. mechanization; the moment; of, the problem; are; the
scientists; discussing; at; farm.

3. machinery; is; the economic; due to ; increasing; of agriculture;
efficiency; farm; using ; (?)

4. present; developing; branches; two; at; agriculture; are; main;
of; the scientists (?)

5. the students; crops; the farm; working; farmers; the rain; on;
were; when; and helping; started; harvest.

(C) Exercise 18. Fill in the gaps with a correct form of the verb.

1. The review of new processes in agriculture ... that a new crop
growing technology ... rapidly. 2. Increasing in the yield of crops ... by
the proper use of chemical fertilizers. 3. The factory we ... about is one
of the cleanest in the country. 4. The changes in agrotechnical measures
which ... at present are not only quantitative but also qualitative. 5. At
that time the production of lorries was badly required as the country ...
industrialization and mechanization of agriculture. 6. The problem of
farm mechanization ... by our engineers at the moment.

(C) Exercise 25. Translate from Russian into English.

1. B stom roay ¢epmep pasBoauT KopoB. 2. B 3Tom xo3siicTBe
(dbepMepbl  BRIpANIUBAlOT KOpM Oorateiii mporemHoM. 3. Korma wbl
npuexand B IMEPEFoBOE XO3SMMCTBO, MBI YBHJIENH, YTO TaM (hepMephl
HCITOJIB30BAI COBPEMCHHBIE CEIbCKOXO03ICTBEHHBIEC MAIIUHEL. 4. i He
MOHMMAl0, MOYEeMy OH HE TNPHUMEHsET CeBOOoOOpOT. 5. DToil BecHOM
(epmeprl OyAyT BHOCUTH MUHEPAIIbHBIE YA0OPEHUSI.
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Participle I (o6pa3zoBanue n ynorped/jenue B pa3HbIX GyHKIHMAX)

Model: to grow

Active Passive
Simple (Indefinite) Participle I growing being grown

(A) Exercise 1. Form the Participles I (active and passive) from
the verbs in the boxes and translate them:
a) in the function of an attribute [0'tribju:t]

Model: to produce - 1) producing — [POU3BOIAIINH,
npousBoauBIMii; 2) being produced —  mpousBOASAIIMIACS,
[IPOU3BOAMBIIIHICS;

b) in the function of an adverbial modifier:

Model: to produce — producing — npousBos;

(when, while, if) being produced — xorma, ecnm ux (MamIMHEI
U T. JI.) TIPOU3BOAAT (TIPOU3BOJINIIH)

D

to cultivate, to grow, to breed, to determine, to supply, to develop, to
increase, to introduce, to reduce

1)

to involve, to use, to deliver, to improve, to apply, to disturb, to
depend, to comprise, to choose

(A) Exercise 2. Identify the Participle I (active, passive) or the
Participle II and translate the sentences. Remember the functions of
the Participles. You may use the chart below if you need.
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Conocraienue nepepojaa npuuactuii (Participle I u Participle II)
B QyHKIMY onpeesieHus U 00CTOSITeILCTBA

Participle I | Participle II
¢dbynkms onpeneneHus (attribute)

A lot of students from developing Some poor countries get help
countries (13 pa3puBaromuxcs crpan) | from developed countries
study in our capital. (W3 pa3BUTHIX CTPaH).
An electric car developing The method developed
(pa3BuBaromuii) the speed of (pa3paboTaHHBII METOT)
150 km/h is being designed. provided good results.

The device being developed
(pa3pabaTsiBacMBIN, KOTOPBIH
paspabatsiBaercs) will be tested at

the plant.

dhyukmms ooctoarenscTBa (adverbial modifier)
(When, while) developing (When, if) developed
(Pa3pabatsiBas, koraa bemn (Korna (ecnn) OymyT
pa3pabatpiBai) transmitter for deaf paspabotansn) these devices
people Bell invented the telephone. may be very useful for
Being developed (Korna 6yner agriculture.

paspaboTaH), a new supercomputer
will be very powerful.

1. Look at the smiling girl, isn’t she happy?

2. The continent discovered by Cook was called Australia.

3. Not knowing his new address I could not send him a letter.

4. The vegetables being bought in the market are very fresh.

5. In Britain most state schools are comprehensive schools offering a
general education to all children.

6. The farmer answered all the questions asked by foreign guests.

(A) Exercise 3. Identify the Participle in the following sentences,
state its function and translate the sentences.

1. At present two main branches of agriculture are developing.
2. Tractors, combines, lorries and other machinery will considerably
reduce the time required for agricultural work.
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3. Many agricultural processes are being mechanized now.

4. Applying organic and chemical fertilizers farmers increase crop
yields.

5. Depending upon the field of application crops can be subdivided
into food crops, feed crops, industrial crops, vegetables and fruits.

(A) Exercise 4. Identify the Participle I. Translate examples from
the text B.

Man prepared a seedbed using the most primitive cultivating devices;
agricultural machinery replacing manual labor; with engines varying
from 20 h.p. to 400 h.p.; jobs requiring more intricate agricultural
machinery; using the Internet; the most far reaching inventions.

(A) Exercise 5. Choose the correct form of the Participles in
brackets.

1. The book (taken, taking) from the library contained much
interesting material for my report.

2. In Britain there are grammar schools, (being provided, providing)
a more academic education.

3. There are technical schools, (offering, being offered) a
combination of academic and technical teaching.

4. (being applied, applying) organic fertilizers farmers improve soil
fertility.

5. (working, being worked) at this problem they had to look through
a lot of English journals.

6. The crops (being shown, showing) are used for crop rotation.

(B) Exercise 6. Group the sentences according to the functions of
the Participle I. Translate the sentences.

The farmer was demonstrating an operating combine harvester.
Designing new systems we can use electronic computers.
When finishing the experiment the engineer used a series of new tests.
A barometer is an instrument measuring atmospheric pressure.

5. Making experiments scientists prove that electricity has an atomic
character.

halb o e
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6. Grasses (TpaBbl) grow very well all the year round providing fresh
fodder for cattle.

7. We are reading about the factors increasing the productivity of the
farm animals.

(B) Exercise 7. Open the brackets and use the correct active or
passive Participle I of the verb.

The house (build) at the corner of the street will be a library.
While (translate) the text, I consulted a dictionary.

(Be) very busy he couldn’t take part in this work.

He sat at the table (read) a book.

Sugar beet is the plant (grow) in many countries.

(Do) heavy work, the horse needs proper feed.

While (cross) the field I saw many peasants (work) in the field.

NNk =

(B) Exercise 8. Open the brackets and use the correct active or
passive Participle I of the verb.

1. Now computer technologies mean that engineering employers are
(look for) people with a wider range of skills and personalities.

2. Milk is a complete food (contain) all necessary food substances.

3. (Specialize) in milk and meat production republic grows potatoes,
sugar-beet and other vegetables.

4. Soil is a natural resource (support) plant life.

5. Wheeled tractors (use) for farm work have the great advantage.

6. Sunlight is very important for many processes (take place) in the
(grow) plant.

(B) Exercise 9. Paraphrase the sentences using Participles instead
of clauses in italics.

1. The students who work hard at their English know the language
well.

2. As these plants are used for different purposes they are cultivated
in many countries.

3. When the students worked on the farm in autumn they helped
farmers harvest crops.
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4. The book that was being written by him will soon be published.
5. If the soil is poor it must be fertilized.

(C) Exercise 10. Fill in the gaps with a correct Participle I of the
verb in the box.

depend, use (2), have, make (2), carry

1 ... areas of land people produce food, clothing, shelter and other
useful materials.

2. ... experiments scientists prove that electricity has an atomic
character.

3. A neutron is a particle ... the same mass as a proton but ... no
electrical charge.

4. What do you think of the method ... ?

5. The duration of the study may be from 4 to 7 years, ... upon the
program.

6. There are only a few of the attempts now ... to improve the
methods of teaching adult students.

(C) Exercise 11. Fill in the gaps with a correct Participle II or
Participle I Passive of the verb in brackets.

1. a) I cannot forget the story ... by him. b) They listened
breathlessly to the story ... by the old man. (to tell).

2. a) One can’t fail to notice the progress ... by our group during the
last term. b) There are only a few of the attempts now ... to improve the
methods of teaching adult students. (to make).

3. a) We could hear the noise of furniture ... upstairs. b) For a
moment they sat silent ... by the story. (to move).

4. a) The monument .. on this square has been recently unveiled. b)
The monument ... on this square will be soon unveiled. (to erect).

(O) Exercise 12. Give the English equivalents. Use the Participle 1.

1. mpuemsl, yay4iaroiue o4ysy;
2. ceNbCKOXO3SMCTBEHHAs TEXHUKA, KOTOpask UCTIOIb3yeTCs;

52



3. dpepmep, 3HAIOMINI arpOTEeXHUYECKUE MPABHJIA;
4. IpOIYKTHI MUTAHUS, KOTOPBIE TPOU3BOASTCS;

5. ynoOpeHus, KOTOpble IPUMEHSIOT;

6. X0351iiCTBa, BHEAPSIOIIUE CEBOOOOPOT;

7. pa3BUBaIOLIasCA OTPaCIb;

8. mporecchbl, KOTOPbIE MEXaHU3UPYIOT;

9. KpYNHBIA porartblii CKOT, KOTOPBIH BHIPAIIHBAIOT;
10. TexHMKa, COKpalIaromas Bpems;

Gerund (o0pa3oBaHue u ynoTpedJjieHne B pa3HbIX (PYHKIHSX)

(A) Exercise 1. Form the Gerund from the verbs in the box and
translate it in different functions.

Model: to produce — producing

a) mpomsBojacTBO (Remember to use prepositions before the
Gerund: in - mnpu; omyupon — 1o, mocie, mpu; by — myrewm,
MOCPECTBOM, IIpu nomoty; without — 6e3).

b) npousBos; ¢) IPOU3BOIUTE.

to grow, to develop, to breed, to increase, to introduce,
to deliver, to apply, to till, to use, to turn

(A) Exercise 2. Identify the Gerund (active). Translate the
sentences. Remember the functions of the Gerund.

1. Sleeping after meals is bad for health.

2. The farmer likes breeding poultry.

3. Thank you for your delivering new equipment.

4. After supplying foodstuffs the manager left the shop.

5. On seeing the engine in operation the mechanic decided to test it.

(A) Exercise 3. Identify the Gerund (passive). Translate the
sentences. Remember the functions of the Gerund.

1. In spite of being developed this branch of economy didn’t give
good results.

2.Without being cultivated well the field produces low yields of
wheat.
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3. After being highly mechanized the farm doesn’t face any problems
of fodder.

4. Instead of being improved the equipment was tested on the farm.

5. The agronomist insisted on his method being used.

6. My parents enjoy being invited to their friend’s home for dinner.

(A) Exercise 4. Identify the Gerund in the following sentences,
state its function and translate the sentences.

1. Now the word “agriculture” also means the use of land for
breeding animals.

2. Enough food for all the people can be grown if there is sufficient
good soil for producing high yields.

3. Increasing in the yield of the grain and other crops is ensured by a
number of factors.

4. Today’s farming is highly developed and intensive.

5. Livestock breeding comprises cattle-breeding, pig-growing,
poultry breeding, etc.

(A) Exercise 5. Identify the Gerund. Translate parts of the
sentences from the text B.

a) Gerund as a part of a compound noun:
cultivating devices; a digging implement; a self-binding reaper; a
threshing-machine; a mowing-machine; milking machines.

b) Gerund in the position of a noun:

methods of improving soil structure; methods of using lands; tools
for tilling; by turning over a thick layer of the soil; by putting water to
work; harvesting of sugar-beets; silaging; mowing of grasses.

(A) Exercise 6. Fill in necessary prepositions.

1. The students are interested ... (at, in, with, of) designing various
devices.

2. The farmer is very fond ... (on, of, in, from) introducing a new
crop rotation system.

54



3. I don’t say I’'m proud ... (with, at, of, in) practicing these methods
of improving soil structure.

4. Rainy weather can prevented us ... (from, with, at, of) mowing
grasses.

5. We were surprised ... (in, at, of, with) his being invited to the
scientific conference.

(B) Exercise 7. Match the parts of the sentences in A and B
columns.

A B
1. It’s difficult to keep them ... grazing on the meadow.
2. The police caught him ... coming from the house.
3. Will you please stop ... opening the safe.
4.1 can’t hear someone ... thinking about the problem.
5. They leftus ... working all the time.
6. I could smell smoke ... shouting in the distance.
7. The farmer found the horse ... changing TV channels.

(B) Exercise 8. Open the brackets and use the correct active or
passive forms of the Gerund and translate the sentences.

1.There is no hope of our (supply) the factory with raw materials.
2. The farmer breeds pigs without (choose) necessary feeds.

3. (Use) chemical fertilizers increases agricultural production.

4. People began (grow) plants many thousand years ago.

5. Kate likes (give) orders, but she hates (tell) what to do.

(B) Exercise 9. Make a sentence out of 2 parts. Use the Gerund.

our shop with foodstuffs.
(supply)

2. There was little chance of grain crops. (grow)

3. I don’t like the idea of new farm equipment. (use)

4. The engineer thanked them for | animals. (breed)

5. The manager was surprised at chemical fertilizers. (deliver)

1. The farmer began
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(C) Exercise 10. Complete the sentences in A with their English
equivalents in B.

A B
. obecrieueHne HACEIICHUS BCEil CTpaHbI
1. Good farming depends on ... p
TIPOJIOBOJILCTBUEM.
2. Agriculture looks forward to ... BHECCHHE MUHEPAJILHBIX yIOOpECHUI.
3. The farmers insisted on ... UCIIOJIb30BaHHE COBPEMEHHOI TEXHHKH.

COKpAIIIeHUHN BPEMEHH, HEOOXOAMMOTO

4. The engineer was interested in ... N
JUISL IOCTABKH yJOOPSHUIA.

5. The agronomist thanked the BHEJPEHHE CEBOOGOPOTA.

farmer for ...

(C) Exercise 11. Translate the sentences from Russian into
English using the Gerund.

1. 51 He mor m30exaTh pa3roBopa ¢ Hel. 2. S ykacHO He OO0
TpaTuTh Bpems 3psa. 3. OH m3beram BBIpakath cBoe MHEHHE. 4. OH
puexall CIojia C LENbI0 MOMOYb BaM yOpaTh ypoxaid. 5. Ero oOBuHMIN
B HCIIOJIb30BAaHUU OMNAaCHBIX XMMHUKaToB. 6. OH BCmaxuBaeT moje 0e3
OCTAHOBKH TICJIBIN eHb. 7. @epMep OBbLT 3aHAT BHECCHUEM YAOOPCHHMIA.

Ynorpedsenne Participle I u Gerund

(A) Exercise 1. Form the Gerund or the Participle I (active,
passive) in the following sentences, state its function and translate
the sentences.

1. (protecting, being protected) the environment from pollution is the
most important task today.

2. It’s no use (growing, being grown) grain crops in this field.

3. They insisted on the equipment (using, being used) immediately.

4. The farmer made a good progress in (producing, being produced)
agricultural products.

5. (supplying, being supplied) agriculture with high-quality
machinery we can greatly increase its economic efficiency.
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(B) Exercise 2. Translate the sentences. Remember the functions
of ing-forms.

1. Automatic systems designing new machines help the designing
engineer to solve many difficult problems. Designing includes a number
of criteria. Designing new machines the designer has to solve various
engineering problems.

2. The industry producing all types of machines and mechanisms is
called machine building. Producing new generations of machines and
equipment increases productivity. Producing new generations of
machines and equipment experts find ways for the application of
advanced technologies.

(B) Exercise 3. Fill in the gaps with correct ing-forms of the verbs in the
box. Use each verb only once. There are more verbs than you need.

| permit; be; practice; contain; send; till; design; thresh |

1. Fertilizers ... potassium are obtained from potassium rock salts.

2. These operations can be practiced with row-crops which are sown
with interrows ... cultivation.

3. In spite of ... tired the farmer continued ... the field.

4. Her ... on business to Holland is quite unexpected to them.

5. It is impossible to discuss a crop rotation system without ... it.

(C) Exercise 4. Open the brackets and use the correct active or
passive ing-forms of the verbs and translate the sentences.

1. The topics for the research projects are normally associated with
research (BBITIONHATE) in the university.

2. When (xoHcTpympoBaTh) new types of tractors all the latest
achievements of scientific and engineering progress -are taken into
account.

3. The rapidity of change in materials technology is typified by
plastics (ucmonb3oBatsk) in large volumes.

4. When (6patp) a work break on the assembly line workers are
replaced by other workers.

5. The final years of the program provide a great deal of flexibility
(mo3BousATH) you to specialize in those subjects which most interest you.
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4. 3ATIAHUSA
1O YIIPABJISIEMOM CAMOCTOSTEJIbHOM PABOTE
" PEKOMEH/IALMH 110 UX BBIIIOJITHEHUIO

Tema: Agriculture; inventors and their inventions;
history of land transport

CryneHty HE0OXOIMMO BCHOMHHUTH W3YUEHHBIH TEOPETUUECKHUI
MaTepuajd O Ha4dalbHOM TEXHHUYECKOM TIEpeBOJie, TPaAMMATHYECKUX
0COOEHHOCTSAIX  TEXHHYECKOIO  AHIVIMHCKOTO  SI3bIKa,  IIEPEeBOAE
TEXHUYECKUX TEPMUHOB, II0CIEI0BATEILHOCTH PadOTHI IPH NEPEBOAE, a
TaKXKe, METOAMKY COCTaBlieHHs pedepara W aHHOTALUH, OOpa3Ibl
KJIMIIUPOBaHUS pedepaToB M aHHOTALUMM Ha HHOCTPAHHOM S3BIKE,
o0pasipl pedhepara U aHHOTAIIMY HA UHOCTPAHHOM SI3bIKE.

IIpennaratorcs 3ananus st YCPC 3 ypoBHEH CIOXKHOCTHU:

e ypoBeHb A (penpoIyKTHUBHBIN) - MAKCUMAabHAas OLIEHKA

3HAaHUH-06;

e ypoBeHb B (penpoayKTHUBHBIH) - MaKCHMallbHas OIIEHKa

3HAHUU-S;

e yposeHb C (penpoayKTHBHBIN) - MAKCUMalbHas OLICHKA

3HaHu#-10.

YpOBeHb CI0KHOCTH 3aJaHUil ONpeAessieTCs] KOJIMYEeCTBOM 3HAKOB
Ha MepeBoll, 00bEMOM TEKCTa, CTENICHBIO CII0KHOCTH TEKCTA.

Kaxnprit ypoBenb YCPC 1o Moay:io conep Xut 3 3aaaHus:

1. Translate the highlighted paragraph. Use the dictionary.
(ITepeBemuTe BHIICICHHBIN (PparMeHT TEKCTA, HCIIONB3YHTE CIIOBAPH)

2. Make up a plan of the text. Find and write down the key words to
each point of the plan. (CocTaBbTe 1iaH TekcTa, HAHAWTE W BBIIHUIIUTE
KJIIOUEBBIE CJIOBA K KQKJOMY ITyHKTY IUIaHA)

3. Make up a summary of the text.(CocraBbTe pedepar TekcTa)
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Oo6pasubl YCPC no moayaio «BegeHue B cienuaJIbHOCTbY
Yposens A

Task 1. Translate the highlighted paragraph. Use the dictionary.

Agricultural economics originally applied the principles of
economics to the production of crops and livestock — a discipline
known as agronomics. Agronomics was a branch of economics that
specifically dealt with land usage. It focused on maximizing the crop
yield while maintaining a good soil ecosystem. Throughout the 20th
century the discipline expanded and the current scope of the discipline
is much broader. Agricultural economics today includes a variety of
applied areas, having considerable overlap with conventional
economics.

The field of agricultural economics can be traced out to works on
land economics. Henry Charles Taylor was the greatest contributor with
the establishment of the Department of Agricultural Economics at
Wisconsin in 1909. Another contributor, Theodore Schultz was among
the first to examine development economics as a problem related
directly to agriculture.

Agricultural economists have made many well-known contributions
to the economics field with such models as the cobweb model, hedonic
regression pricing models, new technology and diffusion models,
multifactor productivity and efficiency theory and measurement, and the
random coefficients regression. The farm sector is frequently cited as a
prime example of the perfect competition economic paradigm.

Task 2. Make up a plan of the text. Find and write down the key-
words to each point of the plan.

Task 3. Make up a summary of the text.

Yposens B

Task 1. Translate the highlighted paragraph. Use the dictionary.

Agriculture has played a key role in the development of human
civilization. Until the Industrial Revolution, the vast majority of the
human population labored in agriculture. Development of agricultural
techniques has steadily increased agricultural productivity, and the
widespread diffusion of these techniques during a time period is often
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called an agricultural revolution. A remarkable shift in agricultural
practices has occurred over the past century in response to new
technologies. In particular, the Haber-Bosch method for synthesizing
ammonium nitrate made the traditional practice of recycling nutrients
with crop rotation and animal manure less necessary.

The percent of the human population working in agriculture has
decreased over time. Synthetic nitrogen, along with mined rock
phosphate, pesticides and mechanization, have greatly increased crop
yields in the early 20th century. Increased supply of grains has led to
cheaper livestock as well. Further, global yield increases were
experienced later in the 20th century when high-yield varieties of
common staple grains such as rice, wheat, and corn (maize) were
introduced as a part of the Green Revolution. The Green Revolution
exported the technologies (including pesticides and synthetic nitrogen)
of the developed world to the developing world. Thomas Malthus
famously predicted that the Earth would not be able to support its
growing population, but technologies such as the Green Revolution have
allowed the world to produce a surplus of food.

Task 2. Make up a plan of the text. Find and write down the key-
words to each point of the plan.

Task 3. Make up a summary of the text.

Yposenn C

Task 1. Translate the highlighted paragraph. Use the dictionary.

Cropping systems vary among farms depending on the available
resources and constraints; geography and climate of the farm;
government policy; economic, social and political pressures; and the
philosophy and culture of the farmer. Shifting cultivation (or slash
and burn) is a system in which forests are burnt, releasing nutrients to
support cultivation of annual and then perennial crops for a period of
several years. Then the plot is left fallow to regrow forest, and the
farmer moves to a new plot, returning after many more years (10-20).
This fallow period is shortened if population density grows, requiring
the input of nutrients (fertilizer or manure) and some manual pest
control. Annual cultivation is the next phase of intensity in which
there is no fallow period. This requires even greater nutrient and pest
control inputs.
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Further industrialization lead to the use of monocultures, when one
crop is planted on a large acreage. Because of the low biodiversity,
nutrient use is uniform and pests tend to build up, necessitating the
greater use of pesticides and fertilizers. Multiple cropping, in which
several crops are grown sequentially in one year, and intercropping,
when several crops are grown at the same time are other kinds of annual
cropping systems known as polycultures.

In tropical environments, all of these cropping systems are practiced.
In subtropical and arid environments, the timing and extent of
agriculture may be limited by rainfall, either not allowing multiple
annual crops in a year, or requiring irrigation. In all of these
environments perennial crops are grown (coffee, chocolate) and systems
are practiced such as agroforestry. In temperate environments, where
ecosystems were predominantly grassland or prairie, highly productive
annual cropping is the dominant farming system.

Task 2. Make up a plan of the text. Find and write down the key-
words to each point of the plan.

Task 3. Make up a summary of the text.
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5. IPUMEPBI 3ATAHUI
JIJIs KOHTPOJISI PE3YJIBTATOB U3YUEHMSI MOJY.JISI

OO0pa3zenr UTOroBOr0 JIEKCUKO-TPAMMATHYECKOI0 TecTa IO
MoayJiio «BBeneHune B cnenquaaibHOCTD

Mertoauyeckne PpPeKOMEHAANMH JIJs HANHCAHUSL MTOrOBOIO
JIEKCMKO-TPAMMATH4Y€CKOI'0 TECTa 10 MOAYJII):

[ HampcaHMS HTOTOBOTO JIEKCHKO-IPaMMAaTH4eCKOro TecTa II0
MOJTyJIF0 HEOOXOAMMO:

1. [loBTOpUTH TEOPETUYECKUA TrpaMMaTHYECKUIl MaTepual Mo
MO0 U3 pa3aena «HayuHo-TeopeTndeckoe CoaepKaHne MOy JIsT»;

2. IloBTOpHUTH CIOBapb-MHHUMYM JIEKCHUECKHUX €IMHMIl U PEUEBBIX
Mozenel o teme «Benenue B crenuanbHOCTE» (TEKCTHI A, B);

3. BrInonHATH 3afaHusl HEOOXOJUMO B TOM IOPSAKE, B KAKOM OHH
JIaHbI B TECTE.

Exercise 1. Fill in the gaps with the correct words in brackets.

1. Scientists develop new systems of ... (improving, growing) soil
conditions.

2. Farmers use the land for growing various crops and breeding ...
(farm equipment, livestock).

3. The development of mechanical ...(power, steam) for farm work
led to the Industrial revolution.

4. At present our agronomists ... (are improving, are improved) crop
quality and yields.

5. When the students came to the laboratory the scientist ... (made,
was making) a soil test.

Exercise 2. Choose the correct word in brackets.

1. In modern practice plowing is being done by various (grasses,
plows, crops).

2. The (application, equipment, pig-growing) in his laboratory is
modern and useful.

3. “Where were you at about 10 a.m. yesterday?” — “Oh, I (mount,
was mounting, mounted) a plow.”
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4. We usually (mechanize, differ, grow) vegetables in our garden but
this year we don’t grow any.

5. Nowadays an engineer ...(is being made, is making, made) a vast
contribution in design and engineering.

Exercise 3. Complete the sentences with the appropriate words

in brackets.

Organic ... 1. (farming, fertilizers, implement, system) is the form of
agriculture that relies on ... 2. (livestock, crop rotation, sugar beet,
farming) green manure, compost, biological pest control, and
mechanical cultivation to maintain soil ...3. (growth, introduction,
productivity, responsibility) and control pests, excluding or strictly
limiting the use of synthetic fertilizers and synthetic pesticides, etc.
Approximately 32.2 million hectares worldwide are now farmed
organically, ... . 4. (representing, are represent, is representing,
represent) approximately 0.8 percent of total world farmland. A lot of
farmers ... 5. (is using, are using, was use, used) organic farming now.

5.2. 3apanus qJis1 pyoesKkHOTr0 KOHTPOJIA
1o Moy «Beegenue B cienuaabHOCTbY»

MeTonnuyeckue peKOMEHIAUUH I PYOEKHOr0 KOHTPOJIS IO
YPOBHSIM CJIOKHOCTH:

(A) CTyneHTbl [OJKHBI 3HATh CJIOBApb-MUHUMYM JIEKCHYECKUX
eIMHUI] M pedeBbIXx Mojeneid mno Teme «Cenbckoe XO3AHCTBO
1 MexaHu3anus CeJIbCKOTO XO3SHCTBa»; YMETh OCYLIECTBIISITh IEPEBOA
OT/EJIbHBIX MPEMJIOKEHUN 1O TEME C aHIJIIMHCKOTO si3blka Ha PYCCKUM
S3BIK; YMETh OTBEYaTh Ha OOIIMe BOIMPOCH IO T€ME; YMETb CAENaTh
yCTHOE cooO0IieHne 1o Jo0oiH w3 curyanuii  ypoBHI A (6-8
Pa3sBEpHYTHIX NIPEUIOKEHUN);

(B) crynmeHThl JOKHBI 3HATh CIOBapb-MHHUMYM JIEKCHUECKUX
eNMHULl M pedyeBbIX Mogened mo Teme «Cenbckoe XO3SHCTBO
1 MexaHu3anus CeJIbCKOro XO3SHCTBa»; yMETh OCYLIECTBIIATH IEPEBO
OTIENbHBIX CJOBOCOYETaHWH U TPOCTBIX MPEIIOKEHUH 10 Teme
C PYCCKOTI'O f3bIKa Ha aHTJIMHCKUH SI3bIK; YMETh OTBEYATh Ha BOIIPOCHI IO
TeMe; YMEeTh BecTH Oecemy Mo Jro0oi m3 curyauuii yposHs B (8-10
Pa3sBEpHYTHIX NIPEUIOKCHUN);
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(C) cTynmeHTBl IOJKHBI 3HATh CJIOBaphb-MUHUMYM JICKCHUECKUX
eIWHUI] W peYeBbIX Momened 1o Teme «Cenbckoe XO3AHCTBO
1 MexaHu3alms CeNbCKOTO XO03SIMCTBa»; YMETh OCYLIECTBIATH EPEBOT
MIPEIJIOKESHUI MO0 TeMe C PYCCKOTO S3bIKa HAa aHTVIMHCKUHN S3BIK; YMETh
OTBEYaTh HA BOIPOCHI MO TeMe (BBICKa3aTh CBOIO TOYKY 3PEHHS); BECTH
Oecemy mo omHoit m3 curyanuid ypoBHs C (10-15 pa3BepHYTHIX
MIpeIOKEHNUH).

Ilepeuensb cutyaumii
AJ1s1 pyOeKHOI0 KOHTPOJIsl 10 YPOBHSIM CJIOKHOCTH:

YpoBens A

1. At the students’ conference you are to make a report about factors
increasing crop yields. What are you going to speak about? Make use of
the chart.

2. Speak about the history of farm mechanization.

3. Give a brief presentation of agriculture in general.

4. What is called cattle farming ?

5. What are the characteristics of crop plants?

Yposens B

1. Imagine you are a head of an agricultural enterprise. Your farm
specializes in crop growing. What agrotechnical methods and measures
do you have to use to increase yields of grain and other crops?

2. Imagine you are a chief engineer of an agricultural enterprise.
Your farm specializes in livestock breeding. What agrotechnical
methods and measures do you have to use to obtain high yields of
animal produce? Which is one of the principle problems cattle-breeding
faces nowadays?

3. What type of power was of the greatest significance for mankind?
Give reasons for your opinion.

4. Why were new farming methods important to the Agricultural
Revolution?

5. Why should the farmers care about environment applying
fertilizers?
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Yposens C

1. a) Complete the chart below; b) Speak about historical milestones
in engineering development.

What is new for

. Result
agriculture?

Time Inventor Invention

...-2011

2. What major scientific advances in agriculture are going to take
place in your lifetime? Describe them and explain why they are going to
happen.

3. In order to avert the next food crisis should world governments
encourage their farmers to grow more alternate crops (sorghum, bean,
barley, etc.) and with lower grain to meat ratio (goats and rabbits)?

4. What would happen if farmers all switched to organic crops?

5. Your family has a 6-7 acre farm and you would love to do animals
or plant something. What is the best farm animal or crop for a small
hobby farm?

6. How does improving agriculture help create opportunities and
reduce poverty?
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6. OTBETbBI K TECTOBBIM 3A/IAHUAM

OTBeThI K HTOTOBOMY JICKCHKO-TPAMMATHYIECCKOMY TECTY

Exercise 1

. improving

. livestock

. power

. are improving
. was making

Exercise 2

. plows
. equipment

was mounting

. grow
. is making

Exercise 3

1
2
3
4
5
1
2
3.
4
5
1
2
3
4
5

. 1. farming
. crop rotation
. productivity

representing

. are using
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